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CHAPTER 10

ON THE WAYS IN WHICH THIS IRRATIONAL FORMULA %/ (a+bx+cxx+ dX3)
CAN BE MADE RATIONAL.

147.

Thus in this case, such a value is required for X, so that this formula a+bx-+cxx+ dx?
will become a cubic number, and thus from which the cube root can be extracted. Here it
should be recalled, that the third power should not be exceeded in this formula, because
otherwise the solution of that could not be hoped for. Should the formula go only as far as
to the second power and the term dx’ omitted, thus the solution would not become easier:
but if the last two terms should be missing, thus so that this formula a + bx must become
a cube, there is thus hardly any difficulty in the matter, as in that there must be only

3 pi-a

, and at once from that there is found to be X = 5

a+bx=p

148.

Here again before everything else it is to be considered, that if neither the first nor the
last term is a cube, the problem is to be considered to be without a solution, provided
there is no case on hand already, in which the formula is known to be a cube, where the
same may be seen at once, or must be found by trial.

Now the first case happens, if initially the first term is a cube and the formula is

f3 +bx +cxx+dx’, where the known case is X=0; secondly, also if the last term is a

cube, and the formula thus obtained is a+bx+cxx+ g3 x> ; from both these cases the third

arises where both the first term as well as the last term is a cube, which three cases we are
going to consider here.

149.

I* case. Let the above formula be 3 +bx + cxx + dx’ , which must become a cube.
Therefore putting the root of that to be f + px, thus so that our formula should be equal

to the cube 3 +3 ffpx+3 fopxx + p>x° ; now since the first term itself vanishes, thus p is
determined in such a manner so that also the second term vanishes, which happens if

b=3ffp,or p= since then the remaining terms divided by xx give this equation

b_.
3ff °
c+dx=3fpp+ p3X , from which there is found X = C_g fzp . Were the final term dx’ zero
p

initially, thus the cube root can be given simply = f , since then it would be known that
f3 = 3 +bx+cxx:or b+cx =0 and from that X = —% , but from which nothing further

can be obtained.
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150.

11" Case. The above formula has now secondly this form a+bx +cxx + g3 X, putting the

cube root to be p + gx, of which the cube is p3 +3gppx +39gpxx + g3x3 , since that then

cancels out the last of the terms; now so that p also removes the last but one of the terms,

which happens if c=3ggp orp = ﬁ : since then the first two terms give this equation
a— p3

3gpp-b -

Were that first term a absent initially, then the cube root can be put without difficulty

a+bx = p’ +3gppx, from which there is found X =

= gX, since then g3x3 =bX +Ccxx+ g3x3 or 0 =b+cx, consequently X = —% ; but which

serves no useful purpose.

151.

111" Case. Finally there shall be the given formula > +bx +cxx+g>x’, in which the first
term as well as the last term is a cube ; therefore the same can be treated by both the
above methods and thus two values can be established for X .

But besides for these the root can still be put f + gx, thus so that our formula must be
equal to this cube f 343 ffx+3 fggexx + g3X3 , since then the first and last terms cancel
each other out, moreover the remainder divided by X gives this equation

_ __ b-31fgg
b+cx =3 ffg +3fggx, and from that x = Togc

152.

But if the given formula falls into none of these three cases, these there is nothing else to
be done, other than to search for a value by trial and error, so that the same will be a
cube: had such a value been found which shall be x = h, thus so that
a+bh+chh+dh* =k*, thus on putting X =h+ Y, since then our formula adopts this

form :
a

bh -+ by
chh+2chy +cyy

dh? +3dhhy + 3dhyy + dy?

k? + (b +2ch+3dhh)y + (c +3dh)yy + dy?

which belongs to the first method, and thus a value can be found for y, from which a new
value can be obtained for X , from which proceeding in the same manner still more values
can be found.
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153.
We will now illustrate this method by an example and initially consider this formula
1+ X+ xx, which must be a cube, and pertains to the first method. The cube root could at

once be put =1, from which there would be found x+xx =0, thatis x(1+x)=0;
consequently either X =0 or X =1, but from which nothing further follows. Therefore on
putting the cube root to be 1+ px, of which the cube is 1+3px+ 3 ppxx+ p3 x>

and makes 1=3p orp :% , thus the remaining terms divided by xx give

2
; NOW since P = 1 thus there will be x =—=- —18 and

27
therefore our formula becomes 1+18+324 =343, of which the cube rootis 1+ px=7.

Further should we put X =18+ Y, thus our formula would adopt this form
343+ 37y + Yy, from which according to the first rule the cube root to be put in place
would be 7+ py, the cube of which is

1=3pp+ p°x, or x="2P2.

343+147py +21ppyy + p3y>;

now putting 37 =147p,or p= thus the remaining terms give this equation

mw
1::21pp+—p Yy, so that

y= 1-21pp _ 34021147 _ _ 1049580
3

373 o 50653 2

from which still further new values can be found.

154.
Further let this formula be given 2+ xx, which must become a cube. Now here before
all else a case must be guessed that provides this cube, which is X =5 therefore putting
thus X =5+ Y, thus one comes upon 27 +10y + Yy ; of which the cube root shall be

3+ py, and thus the formula itself becomes equal to this cube 27 +27py + 9 ppyy + p3 y3

1-pp
3

; making 10 =27p, orp = 10 thus there becomes 1=9pp + p3y , and from that y =

that is y = —12927 ory =_4617 "apnq x = 38 from which our formula becomes

1000 1000 ° 1000
_ 2146689 129 .
2+ XX =1500000 > ©f which the cube root must be 3+ py =155
155.

This formula 1+ x> further is considered, to see if the same can become a cube, other
than the two cases revealed x =0 and X =17 Now if equally this formula shall belong to

the third case, then the root 1+ X does not help, because its cube 1+3X+3XX+ x> put
equal to the formula gives at once 3Xx+3xx =0 or X(1+X) =0, that is either Xx=0 or

X=-1.
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Further we may put X =—1+ Y, thus obtaining this formula 3y —-3yy + y3 , which shall

be a cube and belong to the second kind: therefore putting the cube root of this to be
p+ Y, of which the cube is

P’ +3ppy +3pyy +y>

and making — 3 =3p or p=—1, thus the remaining terms give

3y=p’+3ppy =—1+3y,
consequently Y :% which is infinite ; from which thus nothing is found. Thus it is all
too much trouble in vain to find another value for X, because it can be seen from other
basis that this formula 1+ x° apart from the mentioned cases, can never be a cube ; then

as it has been shown that the sum of two cubes such as t> + x> can never become a cube,
therefore it is not possible in the case t =1.

156.

It can be maintained also, that 2 + x> can never become a cube other than in the case
X =—1; although this formula belongs to the second case, but it employs nothing from
that rule because the middle terms are missing. But on putting X =—1+ Y, thus this

formula is obtained 1+3y—-3yy+ y3 , which can be treated according to all three cases.

After putting the first root to be 1+ Yy, of which the cube is 1+3y+3yy + y3 , thus there
becomes —3Yyy =3yy, which happens only if y =0. According to the second case, the
root is put —1+ Y, of which the cube is —1+3y-3yy + y3 , thus there becomes
I+3y=—-1+3yandy= % , which is infinite. According to the third way, the root must be

put equal to 1+ Yy which is clear at once.

157.

Let this formula be given 3 + 3x® which must become a cube ; now this occurs initially
in the case X =—1, but from which nothing can be concluded in this case, but following
this, in the case x =2: therefore putting X =2+ Y, thus the formula arises from this :

27+36y+18yy + 3y3, which belongs to the first case, therefore the root shall be 3+ py,

the cube of which shall be 27 +27 py +9 ppyy + p3 y3 ; so that there becomes
36=27porp= %, thus the remaining terms divided by Yy give,

18+3y=9pp+ p3y=16+%y,or %y:—z, thereforey=—%, consequently X=—%;

from which our formula becomes 3+3x° = —% , the cube root of which is

3+py= —12—71 ; and from this value more values can be found as desired.
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158.
Further, we will consider finally this formula 4+ XX, which becomes a cube in two
known cases, namely if Xx=2 and X=11. Now initially we put Xx=2+ Y, so that this

formula shall become a cube 8+ 4y + yy, of which the cube root shall be required to be
2+% Y, and thus the formula = 8+4y+% yy+2—17 y3 , from which we obtain 1 =%+21—7 Y,

therefore y =9 and x =11, which is the other known case.
Now further putting X =11+ Y, thus we obtain 125+ 22y + yy, so that which put equal

to the cube of 5+ py, thatis 125+75py +15ppyy + p3y3, and taking p = % , gives

1=15pp+ p’y orp’y =1—15pp = —19%; therefore y = —132633 “and thus x = - 2L .
2+2y
-y °

Because X can be negative as well as positive thus on putting X = our formula

becomes (8+83;§ , which must be a cube; thus multiplying above and below by 1—-Y, from

-y

8-8y+8yy-8y’

that the denominator becomes a cube and since there a )3
-y

is obtained, where

thus only the numerator 8 —8y + 8yy — 8y3 still remains, or the same divided by 8, namely

I-y+yy— y3 which must be made into a cube, which formula pertains to all three cases.

Now according to the first case, the root =1 —% Yy, the cube of which is
1-y+diyy—-Ly* thus giving 1-y=1--Ly or27-27y=9-y,

therefore y ==, consequently 1+y =22 and 1-y =2

13° 3 13°
Following the second class, if we put the root wished to be %— Y, just the same is found.

consequently X =11, as before.

According to the third class, if we put the root to be 1— Y, of which the cube is
1-3y+3yy— y3, we obtain —1+Yy =-3+3y, and thus y =1, consequently X =%, which

is infinite; therefore nothing new has been found in this class.

159.

But because we know already two cases x =2 and X =11, thus we can put X = 2y .

1y 2

then if y=0 thus x=2, but if'y is infinitely large then x =+11.

. 2+11
Therefore initially let X = ;r yy , thus our formula becomes
4 4+44y+121yy r 8+52y+125yy

1+2y+yy (1+y)2
multiplying above and below by 1+ Y, so that the denominator becomes a cube, and only

the numerator remains now which shall be 8+ 60y +177yy + 125y3 , which must be made
into a cube.
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Therefore initially we put the root =2+ 5y, on account of which not only the first two
terms vanish, but also the last, and thus nothing new can be found.
Therefore according to the second case, we put the root p+5Y, of which the cube is

p3 +15ppy +75pyy +125 y3 and make 177 =75p, or p =22, thus there becomes

25°
8+60y = p3 +15ppy, therefore — 2192453 y= 1 5 625 2 andy = 38607387795 , from which

X can be found.

2+1 ly

But we can also put x = , and because our formula becomes

4 4+44y+121yy  84+36y+125yy
— - 2 4
1-2y+yy (1-y)

from which the denominator multiplied by 1—y becomes a cube. Thus also must
8+ 28y +89yy —125 y3 become a cube.

According to the first case, we put the root here =2+2Z 5 Y, of which the cube is

8+28y+2 yy+38y* there becomes 89-125y=2L+38y or

Ty = 129 , and thus y = 32 = 2, consequently x =11, Wthh is the case known
already.

Further, according to the third case, we put the root to be 2—5Y, of which the cube is
8—60y+150yy — 125y3 so that we obtain 28 +89y =—-60+150y , consequently

y= 2? , from which we find that x = 1230 , and our formula becomes

1191016

9 , which is the cube of 5

160.

Now these are the known methods until now by which such a formula can be made into
either a square or a cube, only if in the former case the highest power of the undetermined
number does not exceed the fourth power, and in the latter the third power.

Yet one could still add the case that a given formula could be made into a fourth power
number, in which the highest power must not exceed the second. But if such a formula
a+bx+cxx shall be a biquadratic number thus the same, before all else, must be able to
be made into a square, since then not only is the root of this square left, but also the root
is made from the square of another number, according to the rule given above already.

Thus if for example xx+7 = y?; must be a biquadratic [i.e. fourth power] number, thus

the same initially can be made into a square which occurs if

7PP=99 1 also x = 99=7PP

X =
2pq 2pq

; since then our formula is equal to this square

o' -14qapp+49p* _ - _ g*+14qqpp+49p*
4ppaq 4ppaq

Tpp+aq , which still must be made into a square : on multiplying

2pq
above and below by 2pq, so that the denominator becomes a square, and since then the

of which the root is
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numerator must become a square 2pq(7 pp+qq), which cannot be seen otherwise than

by having already guessed a case. To this end, one can put g = pz, so that this formula

2ppz(7pp+ ppzz) = 2p4z(7 +2z) and thus also dividing by p*, namely this formula
shall become a square 2z(7 + zz) . Now here the known case is z =1, therefore we put
Z=1+Y, so that we obtain

(2+2y)(8+2yy) =16+20y +6yy +2y°,
the root of which shall be 4+% y, and the square of which is 16+20y +% yy , and our

formula is seen at once to give 6+2Yy = %, y =% and z = %; since now Z =§ , thus

g =9 and p =8, therefore x= % , from which our formula 7 + xx = 227097%‘21 , from which

in the first place the square root is 223, and from which further the square root is 2, of
which thus our formula is the fourth power.

[The simple solution X =3, gives 2% =16 .

161.
Finally in this chapter it is to be remembered, that it gives a few formulas which are of a
general nature for making a cube : then if , for example, cXX must be a cube, thus putting

its root = pX, and since there will be cxx = p3x3 orc= p3 X, therefore X =-%; writing é
p

instead of p, thus there becomes X = Cq3 :
The basis of this is clear because the formula contains a square, therefore also all similar
formulae a(b+cx)? or abb+2abcx +acexx can be made into a cube quite easily; for on

(b+cx)’
@

putting the cube root of that = % thus we have a(b+ CX)2 = which divided by

3
(b+ Cx)2 gives a =X from which x = aqT_b , where  can be determined at will.
q
Hence it is clear that the greatest use is to be the resolution of the above formulas into
their factors, whenever that can be seen; and for this material to be treated more widely in
the following chapter.

CHAPTER 11

ON THE RESOLUTION OF THIS FORMULA axx +bxy +cyy INTO FACTORS.

162.
Here the letters X and y denote whole numbers only, and we have also seen from the
preceding, where one must suffice with fractions, how the question can be accommodated
always by whole numbers. Then if for example the sought number X is a fraction, we

need only put x = ﬁ , since then t and U can always be given in whole numbers, and
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because this fraction can be expressed in the smallest form, thus both the letters t and u
can be viewed as such, that they have no common factors between themselves.

In the given formulas thus x and y are whole numbers only, and before we can show
how the same can become a square, or a cube, or that still some higher power can be
constructed, thus it is enough to examine, what values must be given to the letters x and y,
so that this formula contains three or more factors.

163.

Now here three cases arise to be examined : the first is, if this formula actually allows
itself be resolved into two factors, which happens, as we have shown above already, if
bb —4ac shall be a square number.

The second case is, if both these factors are equal to each other, in which the formula
itself comprises an actual square.

The third case is, if the formula itself cannot be resolved into anything other than
irrational factors, the same may be simply irrational or even imaginary; the former occurs
if bb—4ac is a positive number but not a square, while the latter occurs if bb—4ac shall
be negative. These are the three cases which we have to consider here.

164.

Let our formula itself be resolved into two rational factors, so that the same can be
presented thus ( fx+ gy)(hx+Kky), which thus already infers its nature by the two factors
within itself. But so that the same may infer more factors of a general nature, thus it is
only required to put X+ gy = pq and hx+Kky =rs, since then our formula will be equal
to the product pgrs, and therefore it contains four factors, which number can be increased
as desired : but from which we will obtain a two-fold value for X, namely

X = w, and X = rsEky , from which there will be found hpg—hgy = frs— fky, and thus
= f;i:?]zq and X = k'?l?:r?;s ; now so that X and Y may be expressed in whole numbers,

thus the letters p, g, I, S thus must be assumed, so that the numerator really can be divided
by the denominator, which infers that either p and r or q and s can be divided by that.

165.
In order to illustrate this thus let the formula be given xx—yy, which arises from these

factors (X+ Y)(X—Y) : now should the same have still more factors, thus we put

X+Yy=pqand Xx—y=rs, thus obtaining x=--=— andy = pq2—rs

become whole numbers, thus both the double numbers pg and rs must both be equal to
even or to odd numbers.

For example, let p=7, =5, r=3 ands=1, thus pq=35 and rs =3, consequently
X=19 andy =16: therefore xx—yy =105 arises, which number actually consists of the
factors 7-5-3-1; thus this case has presented not the slightest difficulty.

pg+rs

; so that now these can
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166.
The second case presents less difficulty, where the formula includes two equal factors

within itself and therefore can be represented by ( fx+ gy)2 , which square can have no

other factors such as arise from the root fxgy, therefore we put fXx+ gy = pgr, thus our

formula will become ppgqrr and thus can have as many factors as wished.
Here only one of the two numbers X und y need be determined, and the other put in

place freely at our discretion, so that we obtain X = w , where Y can thus be assumed

easily so that the fraction vanishes. The easiest formula of this kind is XX, where we put X
= pgr, so that the square xx includes three quadratic factors within itself, namely pp, qq

and rr.

167.

But the third case has far more difficulty, where our formula cannot itself be resolved
into two rational factors, and there it requires special stratagems to find such values for x
and Y, from which the formula contains two or more factors within itself. In order that
this undertaking may be made easier thus it is to be noted, that our formula can be
changed into another form readily, where the middle term is lacking, namely by putting

X= % , since then this formula will be obtained from that [i.e. from axx+bxy +cyy ]:

zz-2byz+bbyy | 2byz—bbyy _ zz+(4ac-bb)yy
4a T/ T = 4a :

Therefore we can remove the middle term at once, and this formula axx+cyy is to be
considered ,whereby it arises from that, how the letters X and y must be attributed values,
so that this formula contains these factors. It is easy to see that such depend on the nature

of the numbers a and ¢, and therefore we will make a beginning with a specific formula
of this kind.

168.

Therefore initially let this formula be given XX+ yy, in which it is understood that all the
numbers are thus the sum of two squares, and here we will present the smallest as far as
50:
1,2,4,5,8,9, 10,13, 16, 17, 18, 20, 25, 26, 29, 32, 34, 36, 37, 40, 41, 45, 49, 50,

among which several prime numbers are found which have no divisors, thus 2, 5, 13, 17,
29, 37, 41; but the rest have divisors, from which the question clearly will be, how the
values must be given to the letters X and y, so that the formula xx+ yy has divisors or
factors and indeed one wants before anything else, so that all the cases are excluded
where X and y have a common divisor between themselves, since then xx+ yy itself also
would have the same divisor, and indeed would divide the same square ; thus if there
were, for example, X =7p and y = 7q then the sum of their squares

49 pp +49qq9 = 49(pp +qq) itself indeed can be divided by 49. Therefore the question is,

do such formulas apply only for such formula where X and y have no common divisors, or
to be relatively prime. The difficulty here appears at once, that if one sees similarly, so



Euler's ALGEBRA Book II, Section II; Ch's. 10-13.
Translated from German by Ian Bruce, 7/23/2016,
and free download at 17centurymaths.com
639
that if both the numbers X and y shall be odd, since then the formula xx+ yy becomes an

even number and thus becomes divisible by 2 ; but if one is even and the other odd, thus
the formula will be odd, but whether or not there shall be other divisors, the answer is not
so easy to see. But both numbers X and y cannot be even, because they must have a
common divisor between themselves.

169.
Therefore the two numbers X and Yy shall be relatively prime, and nevertheless the
formula xx+ yy shall itself contain two or more factors. Now here the above method

cannot be used, because this formula cannot be expressed in terms of two rational factors;
only by the irrational factors, into which this formula is resolved and presented by this

product (x + y\/jl ) -(X— y\/TI ), can we perform just the same function; then if the

formula XX+ yy has real factors, then the irrational factors must have further factors, so

that if these factors had no further divisors, neither also can their product have any. But
since these irrational factors are indeed imaginary, and also the numbers X and y must
have no common factors, thus the same can have no rational functions, but thus must be
irrational and thus indeed to be imaginary of a similarly kind.

170.
Thus we want this formula XX+ yy to have two rational factors, thus we give both the

irrational factors also as two factors, and put initially X+ Yy J-1= (p+ q\/TI )(r+ sv—1 ),
since then because +/—1 can be taken both negative as well as positive the same shall

become X-— y\/—T =(p- qul)(r —sv/-1 ), thus so that the product of these, that shall be
come our formula, that is our formula shall be xx+ yy = ( pp + qq)(rr + SS) and the same

consequently contain the two rational functions, namely pp+qq and rr +ss. But here the

value of X and Y still remains to be determined, as which also must be rational.
If now those irrational factors are multiplied by each other, thus we obtain

X+ y~/—1= pr—gs+ psv/—1+qr/-1

and

X—yv—1 = pr—gs— psv/—1—qr/~1,

these formulas can be added, thus there becomes X = pr —(s ; the same can be subtracted

from each other, thus there becomes 2yx/——1 =2 pr/—_l + 2qr\/—_1 ,ory=ps+qr.
Therefore we can take X = pr—gs andy = ps+qr, so that our formula xx+ yy surely
contains two factors, as far as from this there arises
XX+yy =(pp+qq)(rr+ss).
If more factors are required, so that one is assumed only to acquire those of the kind p
and g, so that pp+qQg would have two factors, and since then there would then be in all
three factors, of which the number can be increased in the same way as desired.
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171.

Now since here the squares of p, g, r and S occur, thus these letters may be taken to be
negative also : for example, taking q negative, thus x+qs und y = ps—qr, from which
the sum of the squares is just the same as before ; from which we see, that if a number is
equal to such a product (pp+0q)(rr+ss), the same can be decomposed into two

squares in two ways, as was found initially
X=pr—gsandy=ps+qr,
and then also as
X=pr+qgs and y=ps—qr.
For example, let p=3, q=2, r=2 and s =1, thus so that this product would come from
this : 13-5=65= XX+ Yy, since then there shall be either Xx=4 andy =7, or
X =8 and y =1; but in both cases there is XX+ yy = 65 . More numbers of a similar kind

can be multiplied by each other, thus also the product becomes a sum of more kinds of
squares of two numbers. For example, one can multiply

22 +1% = 5, 32422 = 13, and 4% +1%2 =17 by each other, and thus 1105 is obtained,
which number can be decomposed into two squares in the following ways :

1) 332 +4%,11) 322 +92,1IL) 312 +12%,1V.) 24° + 232,

172.
Among these numbers which are contained in the form xx + yy, these initially are to be

found such that they are composed from two or more similar numbers multiplied together
; but secondly also there are such numbers that are not of such a form multiplied together
: these latter numbers we will take to be simple factors of the form xx + yy, while these

former numbers we will call composite; therefore the simple numbers will be of this kind:
1,2,5,9,13,17, 29,37, 41, 49 etc.

Two kinds of numbers arise in which series, namely prime numbers which truly have no
divisors, such as 2, 5,13, 17, 29, 37, 41 and which all, apart from 2, are provided thus,
so that if 1 is taken away from that number, the remainder can be divided by 4, or all of
which are contained in this form 4n+1; secondly, there are also square numbers present
such as 9, 49 etc. of which the roots are 3, 7 etc., not present in the series; whereby it is to
be observed, that these roots 3, 7 etc. are to be contained in this form 4n—1. Moreover it
is also evident that no number of this form4n —1 can be a sum of two squares, then since
these numbers are odd, thus one of the two squares must be even and the other odd ; but
we have seen, that all even squares are divisible by 4, and moreover the odd numbers are
contained in the form 4n+1 ; therefore if one adds together an even and an odd square ,
thus the sum is found always to be this form4n+1, but never of this form 4n—1.
Moreover, it is well known that all prime numbers of the form 4n+1 are the sum of two
squares, but that is not so easy to prove [See E241, Series I, Vol. 2, Opera Omnia].
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173.
We would like to go further, and to consider the formula xx+2yy, in order to see what

values X and Y must have so that they contain the same factors. Now since this formula
may be represented by these two imaginary factors

(x+yv=2)(x=yv=2),

thus it is evident as before, that if our formula has factors, also their imaginary factors
must have factors; therefore initially one puts

X+ y\/zz(p+q«/3)(r+s\/3),
thus it follows from the same that also forthwith our formula must be

XX+2yy =(pp+2qq)(rr+2ss),

and that also the two factors ; so that moreover these sought thus must pertain to the
values to be found X and y, which can adopt the following forms. Since

X+ Y~/—=2 = pr—20s+qr/-2 + psv—2

and

X—y~/—=2 = pr—2gs—qrv/—2 — psv/-2

thus the sum is 2x =2 pr —4qs,and consequently X = pr —2qs; following this the
difference gives
2y\/3 = 2qr\/3 +2psv/—-2, therefore y =qr+ ps. So that if our formula XX+ 2yy has

such factors, the same will always be obtained thus in the same way, so that the one shall
become pp+2qq and the other rr+2ss, or so that both numbers shall be of the same

form as XX+ 2yy; and these can be arranged so that further X and y can be determined in

two ways, because ( can be taken negative as well as positive. Namely one has, in the
first place X = pr—2qs andy = ps+qr, and secondly also X= pr+2qs andy = ps—qr .

174.

This formula xx+2yy thus contains all these numbers within itself, which consist of a
square and twice another square, and which we set out here as faras 50: 1, 2, 3,4, 6, 8, 9,
11,12, 16, 17, 18, 19, 22, 24, 25, 27, 32, 33, 34, 36, 38, 41, 43, 44, 48, 49, 50; that further
as before we can separate out into simple and composite numbers ; then since the simple
numbers, which are not from the previous composite numbers, shall be the following 1, 2,
3,11,17,19, 25, 41, 43, 49 which all, apart from the squares 25 and 49, are prime
numbers, but the squares of which are not to be found. It can be noted also that here all
the prime numbers which are contained in our formula, pertain either to this form
8n+1or to that 8n+3, whereas those remaining either belong to this form 8n+5 or to
that 8n+7, as no other form can be composed from a square and twice another square:
moreover it is known also that all prime numbers, which are contained in either of the
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first two forms 8n+1 and 8n+3, always can be solved in terms of a square and a square
doubled.

175.
Let us proceed in a similar manner to this general formula XX+ cyy, and see what values

must be given for X and Y, so that the formula may contain these factors.
Now since the same is represented by this product

(x+ yv—c)(x—yv-c),

thus each one of these factors again is given two factors of a similar kind : namely on

putting
X+ Y/~ = (p+av—c)(r +sv—c),

and

x—yv-¢ =(p-av=c)(r-sv=c);
and then our formula becomes

XX+cyy = (pp+cqq)(rr +css),

from which it as clear that the factors again shall be of the same form as the formula
itself, but the values of X and y themselves adopt the following form :

X=pr—cqgs andy =qr+ ps,or X= pr+cqs and y = ps—qr, and from this it is easy to
see how our formula can contain still more factors.

176.
Now it is also easy to find the factors of this formula XX —cyy, because we are required

only to write —C instead of +C ; meanwhile the same thus can be found at once ; since
our formula is equal to this product (X+ y\/E (X — y\/E ) ,thus on putting

X+ y«/E:(p+q«/E)(r+s\/E) andx—y\/E:(p—q\/E)(r—s\/E), from which these

factors can be produced at once xx—cyy =(pp—cqq)(rr—css), which further are of the
same kind as our formula itself ; moreover the values of X and y again let themselves be
determined in a twofold manner, namely at first X = pr+cqs, y =qr + ps, and then also
X = pr—cqgs and y = ps—qr . The proof should be found if such a form arises from the

product found, thus the first value is tried, since that shall be
XX = pprr+2cpgrs +ccqqss and yy = ppss +2 pqrs+qqrr , and

Cyy = Cppss + 2cpgrs +cqqrr , from which there is obtained :
XX —CYY = pprr —cppss + ccqgss —cqqrr

which agrees with the product found above ( pp—cqq)(rr—css).

177.
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Up until now we have merely considered the first term, now we would like put the same
term multiplied by a letter, and search for what factors there may be contained in the
formula axx+cyy.

Now here it is clear that our formula shall be equal to this product
(x/a+yv-c)(xva-yv-c),

by which factors again therefore the factors must be given.
But here a difficulty arises, that if it is wished to follow the above method

xv/a + yv/—c = (pv/a + gv—c)(rv/a + sv/—¢) = apr —cqs + psv/-ac +qr/-ac,

and

x+/a — yv/—¢ = (pv/a - gv/—c)(r/a —sv—c) = apr —cqs — psv—ac —qr+/-ac,

from which there is obtained
2x+/a =2apr —2cgs, and 2y+/—c =2 psv/-ac +2grv/-ac,

thus irrational values would be obtained for both X and y , which in no way can find a
place here.

178.
But this difficulty can be removed if we put :

x+/a + y\/—_c = (p«/5+q\/—_c)(r +s\/—_ac) = pr\/g—cqs\/g+qr«/—_c+aps\/—_c,

and

xv/a—yv=c = (pva -gy-e)(r —sv-ac) = prya —cgsva - qry-c —apsy-c;
from which the following rational values can now be found for X und y :
X = pr—cqgs and y = gr +aps, since then moreover our formula obtains the following
factors
axx +cyy = (app +cqq)(rr +acss),
from which our formula has only the one term of the same form, but the other is of a
wholly different kind.

179.

Meanwhile, these two formulas still stand in a very precise relationship with one
another, in that all numbers thus are contained in the first form, for if they shall be
multiplied by another number of the second form, again they lie in the first form. We
have seen already, that two numbers of the second kind Xxx +acyy, which agree with the
above XX+ cyy, multiplied by each other further give a number of the second form.

Thus it still remains to be investigated, if two numbers of the first form XX+ acyy are to
be multiplied by each other, then to which form does the product belong.

Let us therefore multiply these two formulas of the first form by one another :

(app +cqq)(arr +css),

and since it is easy to see that their product thus can be presented thus :
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2 2
(apr+cgs)” +ac(ps—qr)”.

Now here we put apr +cqs = X and ps—qr =Y, thus we obtain this formula xx+ acyy
which is of the latter kind; therefore then two numbers of the first kind axx + cyy

multiplied by each other give a number of the second kind, which can be shown in a
shorthand manner : the numbers of the first kind we will denote by I, these of the second
kind to be indicated by II, and thus I'I gives II ; I-1I gives I ; II-1I gives II, from which
further also it is apparent, which must come about from this, if more such numbers be
multiplied by each other: as I-1I gives I ; I-I-1I gives II ; I-II-II gives I ; II-1I-1I gives II.

180.
In order to illustrate these thus let a =2 and ¢ =3 from which the two kinds of numbers
arise, the first is present in the form 2xx+3yy , but the second in the form XX+ 6Yyy. Now

the numbers of the first form as far as 50 are as follows:
1)2,3,5,8,11, 12, 14, 18, 20, 21, 27, 29, 30, 32, 35, 44, 45, 48, 50.
The numbers present in the second form as far as 50 are as follows :
1) 1,4,6,7,9,10, 15, 16, 22, 24, 25, 28, 31, 33, 36, 40, 42, 49.

Now let us multiply a number of the first kind, for example 35, by one of the second
kind 31, so that the product is 1085, which number certainly is contained in the form
2xx+3yy, or such a number can be found for y so that 1085 —-3yy will be twice a square,

namely 2XX; now initially this happens if y =3, then there becomes X =23 ; next after
this if y =11, then there becomes X =19 ; still again also thirdly if y =13, since then
there becomes X =17, and finally for the fourth time if y =19, then there becomes x=1.

Again one can separate both these kinds of numbers into simple and composite, in
which these are composite which can be constructed from smaller numbers of one or the
other kind: so that the following simple numbers are of the first kind : 2, 3, 5, 11, 29, but
these are composite 8, 12, 14, 18, 20, 21, 27, 30, 32, 35, 44, 45, 48, 50. But of the second
kind these are simple 1, 7, 31, all the rest are composite, namely 4, 6, 9, 10, 15, 16, 22,
24,25, 28, 33, 36, 40, 42, 49.

CHAPTER 12

ON TRANSFORMING THIS FORMULA axx+cyy INTO SQUARES
OR ALSO INTO HIGHER POWERS

181.
We have seen above already, that numbers of this form axx+cyy can often be

impossible to be made square : but quite often it is easy, thus this form can be changed
into another in which a =1. For example this form 2pp—qqg can become a square, if it is
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allowed to adopt such a form : (2p+q )2 -2(p+q )2 . Now putting

2p+gq=Xxandp+q=Y, thus the formula is produced xx—2yy, where a=1 and

¢ =—2. Now such a transformation also finds a place, whenever it is possible to make a
similar formula into a square.
Therefore if this formula axx + cyy shall be able to be made into a square or to a higher

even power, then surely we can put a =1, and the remaining cases are considered
impossible.

182.
Therefore this formula is considered xx+ cyy, which is required to be made square.

Since now the same is composed from these factors

ey )(x-yie),

thus the same factors must either be squares, or with all the numbers to be multiplied by a
square. Then if the product of two numbers should be a square, as for example, pq, thus
it is necessary, either that p =rr and q =ss, that is so that each single factor for such is

itself a square, or so that p=mrr and g = mss, that is so that the square factors are to be
multiplied by another number, therefore we put X+ yv—C =m(p+q+/ —C)2 , so that from

the same X—Yy+/—-C=m(p— q\/—c)z, therefore we obtain XX+ cyy = mm( pp + qu)2 , and
thus is a square. But in order to determine X and Y, thus we have this equation :

X+ y\/—_ =mpp+ 2mpq\/—_ —mcqq
and

X—y~/~¢ =mpp —2mpgy/-c —~meqq,

where it is clear that X must be equal to the rational part, but yv/—C to the irrational part ;

therefore becoming X = mpp —mcqq and y\/—_c = 2mpq\/—_c ory=2mp(q.
Thus on putting X =mpp —mcqq and y =2mpq, our formula XX-+cCyy is a square,

namely mm(pp + cqq)2 , of which the root is mpp +mcqq .

183.
Should the two numbers X and y be undividable between themselves, or having no
common divisor, thus we must put m=1. Hence if XX+ cyy should be a square, thus we

need only take X = pp—cqq and y =2pq, since this formula is equal to the square of
pp +cqg . So that instead of putting X = pp—cqq, thus one can put also X =cqq— pp,

because both sides become the one square XX. Now these are the same formulas, that we
have already found above from different principles, whereby the accuracy of the method
used here is confirmed.
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Then according to the previous method, if xx+cyy shall be a square, thus the root is put
=X+ % , and then we obtain XX+ Cyy = XX+ ZZﬂ + pg_qyy , from which xx itself vanishes

and the remaining terms divided by y and multiplied by qq gives

cqqy = 2 pgx+ ppy, or cqqy — ppy = 2 pgx ; now on dividing by 2pg and by Y, there
X _ C99-pp

becomes T

are similar, thus X must be equal to the numerator and y to the denominator, consequently

X=cqgq— pp and y =2pq, as before.

. But since X and y shall have no common factors, justas p and q

184.
This solution is valid, whether the number ¢ may be positive or negative ; moreover the
same has the same factors, for if the above formula were XX+ acyy which must be a

square, then not only is the above solution in place, which gives
X=acqq— pp andy=2pq, butalso x=cqq—app andy =2p(q ; then since sometimes

there will be

XX +acyy = ccq” + 2acppqq + aap* = (cqq + app)?,

which also happens, if one takes X =app —cqq, because the square XX arises in both

cases.
This new solution will be found also by the method used here. Putting

X+ y~/-ac = (pva +gv—c)* and x - yv-ac = (pva -qv-c)’,

from that there becomes Xx+acyy = (app + qu)2 , and thus equally a square ;
but since there becomes

X+ yv/—ac = app + 2 pg/—ac —cqq

and

X—y~—-ac =app —2pgv-ac —cqq,
from which it follows
X=app—-cqq and y =2pq.

Thus, if the number ac may be allowed to be divided up into two factors in more ways,
then also more solutions can be found.

185.
We will illustrate these through some determined formulas, and initially this formula
XX+ Yy 1is to be considered, which shall be a square. Now since here ac =1, thus we take

X = pp—qq and y =2pq, thus there becomes

XX+ Yy = (Pp+0q)”.
Secondly should this formula XX — yy become a square, thus ac = —1; thus we take
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X=pp+qq and y =2pq, since then xx—yyz(pp—qq)z.
Thirdly should this formula xx+2yy become a square, where ac =2, thus we take

X=pp—2qg,or x=2pp—0q and y =2pq, and then there becomes

XX +2Yy = (PP +20q), or XX+ 2Yyy = (2pp +qq)°.
Fourthly, should this formula xx—2yy become a square where ac =-2, thus we
take X = pp+2qq and y =2 pq, since then there becomes

Xx—2yy = (pp—2qa)°.
Fifthly, should this formula xx+6yy become a square where ac =6, and thus whether
a=landc=6,or a=2andc=3; thus initially we can put x=pp—-6qq andy =2pq,
since then

XX+2yy = (pp+2q0)
Finally we can also put X=2pp—-3qqg and y =2p(q, since then

XX+6Yyy =(2 pp+3qq)2.

186.

But should this formula axx+cyy be made into a square, as it is already to be
remembered, that this cannot happen unless a case is known already, in which this
formula actually is a square. This known case therefore will be, if x=f andy =g, thus
so that aff +cgg = hh; and since then our formula can be changed into another of this

kind tt+acuu, if we put
t= afx;cgy and U = gx;fy :
since that becomes

it = aaffxx+2acfgxy+ccggyy
- hh

ggxx—2 fgxy+ ffyy

and uu = mh s

from which follows

tt + acuu = aaffxx+ccggyy+acggxx+acffyy  axx(aff +cgg)+cyy(aff +cgg) .

hh hh ’

now since aff +cgg = hh, thus there becomes tt + acuu = axx +cyy ; and the form
presented in such a manner axx +cyy becomes this form tt +acuu, which according to
the rules given here, can easily be made into a square.

187.
Now we will progress further and consider how this formula axx + cyy, where X and y

cannot be divided by one another, can be made into a cube ; for which the above rules are
by no means adequate, but here the indicated method can be applied with the best
outcome: whereby these are still to be noted in particular, that this formula can always
produce a cube, the numbers @ und ¢ may be taken as desired, which cannot act with
squares, unless a case were known ; which also applies to all the other even powers ; but
with the odd powers, such as the third, fifth, seventh etc., the solution is always possible.
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188.
Therefore if this formula axx+cyy shall be made into a cube, thus in the same manner

as before we put
xa+ yv=c=(pva+av=c) and xva-yv=c =(pva-aJc)

then from this the product is axx + cyy = (app + qu)3 , and thus our formula is a cube :

but this is obtained from that only if here both X and y can be determined to be rational :
which in a fortunate manner may be the case; then if the appointed cube really can be
formed, then we obtain these two equations

x+/a + yv/—c = ap>v/a + 3appgv/—c —3cpgg/a — cg*v/—c,

and

X+/a — yv/—¢ = ap’+/a - 3appg/—c — 3cpagv/a + co’ v/,

from which it clearly follows, that
x =ap> —3cpqq and y = 3appg—cq’ .
We look, for example, for two squares XX und Yy, of which the sum Xx+ yy amounts to a
cube: because now here a=1 and ¢ =1, thus we obtain
x=p’-3paq andy =3ppq-q°,
and as then there becomes xx+ yy = (pp + qq)3 .Now let p=2and q=1, thus there
becomes X=2 andy =11; from which xx+yy =125= 5.

189.
We would like again to consider this formula XX+3yy, which is required to be made

into a cube : because now here, a =1 and ¢ =3, thus there becomes

x=p’—9pqq and y = 3ppq—3q’,
and since XX+3yy =(pp+ 3qq)3. Because this formula arises often, we will set out the
easier cases here .

p q X y XX +3yy

1 1 8 0 64 = 43

2 1 10 9 343 -7
. 2 3> 18 2197 =131
3 1 0 24 1728 =12
1 3 80 72| 21952=28’
3 2 81 30 9261 =21
2 3 154 45 29791=31°
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190.
Were the condition not prescribed, that the two numbers X and y should not be divisible
between themselves, then the question poses hardly any difficulty: then if axx + cyy must

be a cube, then we put X =1z and y = uz, so that our formula becomes attzz + cuuzz
S 3 D
which is put equal to the cube %, from which it is found at once that z = v (att + Cuu) ;
Vv

consequently the values sought for X and y shall be,
x =tv’ (att+cuu) and y =uv’ (att+cuu), which other than the cube v still has the
common divisor att+cuu : this solution thus gives at once

axx +cyy = v (att +cuu)’ (att + cuu) = v° (att + cuu)?

which evidently is the cube of v* (att+cuu).

191.

Here the method used is actually the more remarkable, since we have found such
solutions with the help of irrational and thus indeed of imaginary formulas, where just
some rational and indeed whole numbers were required. But it is even more remarkable,
that in these cases where the irrationality disappeared, our method could no longer be
used: then if , for example, XX+ cyy should become a cube, thus one can also conclude
that also both the irrational factors of that, namely X+ y\/—_c and X — y\/—_C , must also be
cubes; because the same cannot divide into each other so that the numbers X and y have
no common divisors. But were the irrational v/—C to fall away, as if, for example we put
¢ =—1, then this principle would no longer find a place, because then both the factors
namely X+ Y and X — Y, of course then could have a common divisor, without X and y

having any such thing, as for example, if both the numbers were odd.

Therefore if XX— Yy is to be a cube, thus it is not necessary that X+y and X—Yy as well
shall themselves be cubes, but rather one could well put X+ Yy =2 p3 and X—y= 4q3 ,
since then xx— Yy without any trouble would be a cube, namely 8p°q’, of which the cube

root is 2pQ; but as then x = p3 + 2q3, andy = p3 —Zq3 . But if the formula axx+cyy itself

cannot be divided into two rational factors, then no other solution will be found, other
than these given here.

192.
We will illustrate this discussion with a few noteworthy questions:
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Question I : We require a square XX in whole numbers so that if 4 may be added, then a
cube arises ; such as occurs with the numbers 4 and 121, but the question here is, if more
similar numbers can be given ?
Since 4 is a square, thus we look initially for the cases in which xx+ Yy is a cube,

which is made clear from what happens above, if X = p3 —3pqg and y =3 ppqg— q3 ; since
now here Yy = 4, thus there is y =12, consequently there must be

3ppq—q° =+2 or 3ppg—q° =—2: in the first case thus q (3pp—0aq) =2, consequently
is a divisors of 2. Therefore there shall be in the first place q =1, thus there becomes
3pp—1=2, consequently p=1 and thus x=2 and xx=4.

Now putting =2, thus 6 pp—8==£2; the positive sign is valid, thus

6pp =10 and pp = % , from which the value of p would be irrational, and thus cannot be

used here; but the negative sign is valid, thus we have 6 pp =6 and p =1, consequently

X =11. There are no more cases, and thus only two numbers are given, namely 4 and
121, which if 4 be added to that will become a cube.

193.

Question II: Such a square is required in whole numbers, which if 2 were added to that it
would become a cube, as happens for the square 25 : the question asked here is, if there
shall be still more similar cases ?

Thus since xx+2 should be a cube, and 2 is twice a square, thus in the first place we
look for the cases, in which the formula XX+ 2yy becomes a cube, which happens in the

above article 188, when a=1andc=2,if x= p3 —6pgq and y =3 ppq - 2q3 ; NOW since
here y ==1 thus must become 3 ppq —2q3 =q (3 pp —2qq) ==1, and thus q is a divisor
of 1; therefore q =1, thus there becomes 3 pp —2 =+1; which is valid for the upper sign,

thus 3pp =3 and p =1, consequently X =5; moreover the other sign gives an irrational

value for p, which cannot be used here ; from which it follows that only the square 25 has
the desired property in whole numbers.

194.
Question III : Such a fivefold square is sought, so that if 7 were added, a cube would
be found: or that 5xx+ 7 may be a cube?
In the first place we examine these cases where 5xx+ 7 will be a cube, which occur
accordance with the article 188, where a=5andc=7, if

X=5 p3 —21pgq and y =15ppq - 7q3 ; because here there shall be now y =+1, thus there

becomes 15ppg— 7q3 =q(5pp—-7qq) =1, since then g must be a divisor of 1,
consequently g =1 thus there becomes15pp —7 = £1, where both cases for p give some

irrational numbers, from which moreover still nothing can be concluded, so that this
question indeed shall not be possible, because p and g should be such fractions, that y =1
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and X would still be a whole number ; such happens actually if p= %and q :% , then

there becomes y =1 and X =2 ; but the matter cannot be resolved with other fractions.

195.
Question I'V: Such a square is looked for in whole numbers, which doubled and if 5 is
taken away from that gives rise to a cube ; or 2xX—5 shall become a cube.
Initially we examine these cases 2xx —5yy that become a cube, which according to the

188th article, happen if a=2andc=-5,1if x=2 p3 +15pqg and y = 6 ppq + 5q3 . But
here there must be y ==1, and consequently

6ppq+59° = q(6pp+54q) = =1,
which never can never happen with whole numbers, and also not even once with fractions
; therefore this case is quite remarkable, since nevertheless a solution can be found, if

namely X =4, then there becomes 2xx—5 =27, which is the cube of 3; and hence it is of
the greatest importance to investigate the basis of this.

196.
Thus it is possible, that 2xX —5yy may be a cube whose root indeed has the form

2pp-5qQ, namely if x=4, y=1and p=2, =1, and therefore we have a case where
2xx—5yy =(2pp— 5qq)3 , in spite of the fact that both the factors of 2xXx—35yy, namely

X2 + y\/g and x+/2 - y\/g , are not cubes, since the same still ought to be cubes of
p\/z + q\/g and p\/E - Q\/g according to this method, as in our case

X2 + y/5 =442 +/5 , whereas (pﬁ+qJ§)3 :(2ﬁ+J§)3 = 4642 +29+/5 , which

in no way agrees with 42 +45.

But it is to be observed, that this formula rr —10sS can be 1 or —1 in an infinite number
of cases; namely if r =3 and s =1, further if r =19 and s = 6, which multiplied by this
form 2pp—5qq further gives a number of the last kind.

Therefore let there be ff —10gg =1, and instead of that we have put in place above

2xx—5yy =(2pp— 5qq)3 ,thus we can now also of a more general kind put

2xx—5yy =( ff —1099)(2pp —5qq)3 , and the factors of that taken give

X2 + y\/§=(f + g\/ﬁ)(pﬁ iq\/§)3. But there is
(V2 V5 = (20 +15pqa)v2 £ (6ppa+50° |5,

which for brevity we write as A2 +B+/5, which multiplied by f + g\/ﬁ gives

Af2 +Bf /5 + 2Ag\/§ + Sng/E , which must be equal to that xv2 + y«/g , from which

there arises
X = Af +5Bg and y = Bf +2Ag ;
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since now there must be y =+1, thus it is not absolutely necessary that 6 ppq + 5q3 =1,
but it is sufficient if only the formula Bf +2Ag, that is

f (6 ppq +5q3)+2g (2p3 +15 pqq)
were equal to +1, where fand g can have several values. For example, let
f =3 and g =1, thus the formulal8 ppq +15q3 +4p3 +30pgq must be equal to +1, or

there must be 4p> +18ppq+30paq+15q° =+1.

197.
But this difficulty in bringing out all the possible similar cases themselves is found only
then, if the number C in the formula axx + cyy is negative, because then this formula

axx+cyy or this one xx+acyy, thus can become 1, which can be established by a known
transformation, but which can never be done if C is a positive number, because axx + cyy
or XX+acyy always gives a greater number, the greater X and Yy are given. Therefore the

previous method examined here can be used only in such cases with benefit, if both the
numbers a and ¢ have been taken positive.

198.
Thus we come to the fourth power and it is to be noted in the first place, that if the
formula axx+cyy shall become a biquadratic, the number a =1; then if the same were

not a square, thus it would either not be possible to make this formula into a square, or if
it were possible thus the same also could be changed into this form tt +acuu, therefore
we restrict the question only to the latter form, with which the above xx+cyy agrees, if

a=1. Now thus it is assumed from that, how the values of X and y must be obtained, so
that this formulae axx+cyy becomes a biquadratic. Now since the same consists of these

two factors (X+ y+/—C)(X—y~/—C), thus each one must be the same kind, therefore we
must put

x+y\/—_c:(p+q\/—_c)4andx—y\/—_c:(p—q\/—_c)4

from which our formula will be equal to this biquadratic ( pp+ qu)4 , but the letters x

and y themselves can be determined easily from the development of this formula, as
follows:

X+ y~/—¢ = p* + 4 p>gq/—c —6cppaq — 4cpg~/—c +ceq?
x— yv—¢ = p* —4p3gv/—c — 6cppqq + 4cpg’v—c +ccq®

consequently
x = p* —6cppgq+ ccq* and y =4p3q-4cpg’.

199.
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Thus if xx+ yy shall be a biquadratic, because here ¢ =1, thus we have these values
x=p*—6ppaq+q* and y=4p>q-4pg* and then there will be xx+yy =(pp+qq)".
Let us, for example, put p=2 and g =1, thus we obtain X =7 and y =24 ; from which

there becomes XX+ yy = 625 = 54,
Further taking p =3 and g =2, thus we obtain X =119 and y =120, from which there

becomes XX+ Yy = 134,

200.
Concerning all even powers for which the formula axx +cyy may be used to put in

place, it is absolutely necessary likewise that the formula may be made into a square, to
which end it is sufficient that one knows a single case where this occurs; and then this

formula as we have seen above, can be changed into this form tt +acuu, where the first
term is multiplied by 1 only, and thus since in this the form XX+ cCyy can be seen, which

thereupon in a similar manner, can be made to the sixth power as well as to another still
higher even power.

201.
As this condition is not useful for the odd powers, but the numbers a and C can be
chosen at will, so that the formula axx +cyy can always be made into a similar odd

power. Then, for example, so that it can be changed into the fifth power, then we need

only put x/a + y\/Iz(p\/E+qJI)5 , and X\/E—y\/—_C:(p\/g—q\/—_C)S, so that

then clearly there becomes axx-+cyy = (app + qu)5 . Because now the fifth power of
pva +qv/—c is

aap>+/a + 5aap*gv/—c —10acp>qg/a — 10acppg’~/—c + Scepg*~/a +ceg’v—¢ |

from which it can be concluded at once, that
_ 5 3 4 _ 4 3 5
x = aap> —10acp qq + Scepg” and y = Saap”q —10acppg” +ccq’.

Thus, if a sum of two squares is required XX+ Yy, to be immediately to the fifth power,
thus there is a =1 and ¢ =1; consequently

x=p’-10p’qq+5pqg* and y =5p*q-10ppg’ +¢°
Now taking p=2 and q =1, thus there becomes x =38 and y =41, and

XX+ Yy =3125=5.
CHAPTER 13

CONCERNING SOME FORMULAS OF THIS KIND ax* +by* WHICH CANNOT BE
MADE INTO SQUARES
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202.
Formerly so much effort had been put in to find biquadratics, whose sum or difference
would become a square number ; but all the effort was in vain, and at last indeed a proof

was found, that neither this formula x* + y4 nor this one x* - y4 can ever become a
square, and only two cases to be excluded, namely in the first place either x=0o0ory =0,
but for the second where either y =0 or y = X, and in which cases the outcome can be

seen at once. But that in all the remaining cases the condition should be impossible, is
thus so much more remarkable, because if the talk is only about squares that cannot be
used, an indefinite number of solutions can be found.

203.

In order to extend everything relevant to this proof, it is to be noted before everything
else, that both the numbers X and y must be assumed to have no common factors between
themselves ; then if the same should have a common factor, for example, to have d , thus
one could put X =dp and y = dq, thus our formulas would become

d* p4 +d 4q 4 and d* p4 -d 4q4 which if they were squares, also could be divided by the

square d*, with squares being left, thus so that this formula p4 + q4 and p4 - q4 should

be squares left , where now the numbers p and g have no further common factors; it is
therefore sufficient to know, that these formulas in the case that X and y have no common
factors between themselves, could have no common squares, and as then the proof itself
can advance from the same to all cases, since then both X and y can have common factors
[which can be removed.]

204.

We want this formula, namely x*+ y4 , to be made the starting point, that is, of the
sum of two biquadratics of this form, and where we can assume X and Yy to be without

common factors. Now in order to show that x* + y4 , other than the cases mentioned, can

have no squares, a proof along the following lines is followed thus.
If someone wants to deny the proposition, thus he must assert that such values were

possible for X and y, by means of which x* + y4 would be a square, the same would be

possible also with numbers as great as could be wished, because in terms of small
numbers, none are present.

But it can be shown thoroughly, also that if in the largest numbers such values for x and
y were at hand, from the same it could be concluded now also for similar smaller values,
and from these further to still smaller values and so on. But since now in small numbers
no such values are available, apart from the two notified but which can lead to other
small values, thus it can certainly be concluded, that also with the large numbers, even
thus indeed the very largest numbers, no such values for x and y may be present. And
now also in just such a manner will the matter of the difference between two biquadratics

x* - y4 be proven, as we are thus about to show.
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205.

Initially in order to show that x* + y4 cannot be a square other than with the two cases

for which it is evident, thus the following cases are to be noted well.
I. We accept that the numbers x and y have no divisors between themselves, or have no
common factors; thus they shall be either both odd, or one is even and the other is odd.
II. But both cannot be odd, because the sum of two odd squares can never be a square;
then one is odd and always to be present in the form 4n+1, and thus the sum of two odd
numbers would have this form4n+ 2, which is allowed to be divided by 2 but not by 4,
and thus cannot be a square. Moreover this is valid also of two odd biquadratics.

I1. Therefore if x* + y4 were a square, thus one must be even but the other odd. But we

have seen above, that if the sum of two squares shall be a square, the root of one will be
expressed by pp—qg, but the root of the other by 2pq ; from which it follows that there

must be XX = pp—0qg and yy =2pg and that would become x*+ y4 =(pp+ qq)2 .
IV. Thus here y would be even, but X odd: since now XX = pp—qq, thus also for the two

numbers P and q one is even, but the other is odd; but the first p cannot be even, because
since pPp—qqg becomes a number of this form4n—1 or 4n+ 3, at no time can it become a

square. Consequently p is odd and q is even, where it is understood that the same must
not be divisible between themselves.
V. Since now pp—qq must be a square, namely that equals XX , thus this happens as we

have seen above, if p =rr+ss and q = 2rs: then since there will be xx = (rr — 35)2 , and

thus X=1rr—ss.
VI. yy must be as square on its own ; since we now have yy =2p(, thus at once

yy = 4rs(rr +ss), which formula thus must be a square : consequently also rs(rr+ss)

must be a square, where r and S are numbers indivisible by each other, thus so that here
also three factors , S and rr +Ss are to be located, having no common divisors between
themselves.

VII. But if a product shall be a square made from more factors, that between themselves
are indivisible, thus each single factor by itself must be a square, thus if we put

r =tt and s =uu : thus also t* +u* must be a square. Thus if x*+ y4 were a square, thus

also t*+u? the sum of two biquadratics, would be a square as well. Whereby to be
2
noted that because here xx = (t4 - u4) and yy = 4ttuu (t4 + u4) , the numbers t and u

evidently shall become far smaller than X and Yy, in that X and y thus indeed are to be
determined by the fourth powers of t and u, and thus without question must become far
greater.

VIIL. Therefore if two biquadratics such as x* and y* also should be present in the
greatest numbers, the sum of which were a square, thus one can derive from that a sum of
two far smaller biquadratics, which also were a square ; and from these yet still more
times a smaller similar sum can be included and so on, until finally a very small number
arose : but since now such a sum is not possible in small numbers, thus it follows from
that, clearly that such a sum cannot be given in the similar largest numbers.
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IX. Here indeed it could be argued that it has been noted already that small numbers
really give such a sum, namely since there is the zero biquadratic; only in this case we
cannot prove if such a form always returns from the largest to the smallest numbers. Then

if the smallest sum were t* +u®either t =0 or u =0, thus also necessarily yy =0 for the
greater sum; which case does not arise in any derivation.

206.
Now we come to the other proposition, so that also the difference between two
biquadratics x* - y4 shall never become a square, apart from the cases y=0andy =X;

for the proof of which the following points are to be observed.

I. The numbers X and y are assumed to have no common divisors, and thus either both
shall be odd or the one even and the other odd. Since now in both cases the difference of
the two squares further can be a square, thus these two cases must be considered
separately.

II. Thus initially there shall be two odd numbers X and y , and putting
X=p+qandy=p—q; thus it must be observed that one of these numbers is p and q is

odd but the other even. Now there becomes XX— Yy =4pg and XX+ Yyy =2pp+2qq,
consequently our formula Xt — y4 =4pq (2 pp + 2qq) ,which must be a square, and thus

also the fourth part of that pq(2pp+2qq)=2pq(pp+aq), of which the factors are

relatively prime: consequently each one of these factors 2p, q and pp+qq itself must be

a square, namely because the one number p is even, but the other q is odd. Therefore we
put in order that the first two become squares, making 2p =4rr or p=2rr, and q=ss,

where s must be odd, thus the third factor 4r* +s* must also be a square.

III. Now since s*+4r* is a sum of two squares, of which s*is odd, but 4r* is even, thus
we put the root of the first term to be sS=tt —uu, where t is odd and u is even; but the
root of the last is 2rr =2tu or rr =tu, where t and u are relatively odd.

IV. Because now tu = rr must be a square, thus t as well as U must be a square ; therefore
we put t =mm and U =nn, where m is odd and n is even, thus there becomes

ss =m* —n*so that further the difference of two biquadratics namely m* —n* must be a
square. But it is clear that these numbers would be far smaller than x and y, because r and
s evidently are smaller than X and y, and however m and n are smaller than r and s; thus if
the situation were possible in terms of large numbers and x* - y4were a square, thus the
same would be still possible in terms of far smaller numbers, and thus always continuing
until finally the smallest numbers were reached, where the proposition was possible.

V. But the smallest numbers where this is possible, are if that is a biquadratic equal to 0
or is equal to the other part : were the former to be the case then n =0, consequently
u=0, further r=0and p=0, and x4 - y4 =0, or x* = y4; nothing is to be said here
about such a case. But were n =m, thus there would be t =u, further s=0, q=0 and
finally also x =Yy, which does not concern us here.
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207.
One can argue here, that since m is odd and n is even, the final difference is no longer to
be similar to the first, and thus from that nothing further can be concluded about smaller
numbers. But is sufficient that one can assume the first difference for the other, and we

will show that the current x* — y4 cannot be a square, if one biquadratic is even and the
other is odd.

I. Were the first x* even and y* odd, thus the proposition by itself would not be possible,
because one number of the form 4n+3 arises from this that cannot be a square.
Therefore if there shall be X odd and y even, thus there shall be

XX = pp+4qq and y =2pq, thus then there becomes

2
x*—y*=p*-2ppag+q* =(pp-aa)”,
where of p and (, one must be even and the other must be odd.
II. Since now pp+ Qg = XX must be a square, thus p =rr —ss and q = 2rs ; consequently

X =1rr +sS . But from this there becomes yy = 2(rr —ss)-2rs or yy =4rs(rr —ss), which
must be a square, and thus also the fourth part of that must be a square, namely
rs(rr—ss), of which the factors cannot divide each other.

II1. Therefore on putting r =tt and s =uu,, thus the third factor rr —ss = t*—u?

which likewise must be a square; now since the same also is a difference of two
biquadratics, which in turn is much smaller than the first, thus thereby the previous proof
contains its full strength, thus so that if also with these large numbers the difference
between two biquadratics were a square, from which ever smaller differences of a similar
form were able to be found, without nevertheless coming back the two evident cases first
mentioned : thus also such certainty even with the largest numbers is not possible.

208.
Since in the first part of this proof both the numbers X and y were assumed to be odd, the

following can be a shortened form. If Xt — y4 were a square, thus there must be
XX = pp+qq and yy = pp—qq, where from the letters p and ¢ the one would be even but

the other odd : but since there would be xxyy = p4 - q4, consequently p4 - q4 also must

become a square, which is the difference of two such biquadratics, of which the former is
even but the latter odd: but so that these are impossible, has been shown in the second
part of the proof.

200.
We have thus proven these two propositions, that neither the sum nor the difference of
two biquadratics can ever be a square number, except for a few obvious cases.
Therefore if there are other formulas which should be made into squares also, thus
taking place in the proof, that either the sum or the difference of two biquadratics must
become a square, these are impossible. These occur in the following formulas, which we
will summarize here.
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L. It is not possible that this formula x*+ 4y4 shall be a square : then since this formula
is a sum or difference of two squares, thus there must be XX = pp—qq and 2yy =2pq or
Yy = pqg ; now since P and q are themselves relatively prime, thus each one must be a

square. Therefore putting p =rr and q =SS, there becomes XX = r* —s*: thus the
difference of two biquadratics must be a square, which is not possible.

II. Also it is not possible that this formula x* - 4y4 shall become a square: since then
there must be XX = pp+qqg and 2yy =2pg, because from this there would come

x*—4y* =(pp-qq )2 ; now since Yy = pq, the p and g each must be a square; now

putting p=rr and g =SS ,thus xx = r* +s*; which consequently must be a sum of two
biquadratics, which is not possible.
III. Also, it is not possible that this form 4x* - y4 can be a square, because then
necessarily Y must be an even number. Now putting y =2z, thus there would be
4x* ~162* and consequently also the fourth part of that x* —4z* mustbea square,
which from the above proposition is not possible.
IV. Also, it is not possible that this formula 2t + 2y4 can be a square; since then the
same must be even, and consequently x4+ 2y4 =47z , thus there would become
x* + y4 =27z, and therefore
222 +2xxyy = X* +2xxyy + y*,
and thus is a square. Thus now there would be
277 - 2XXyy = x* — 2XXyY + y4
and thus also to be a square. Now since both
227+ 2xxyy and 22z —2Xxyy
must be square, so also their product 424 - 4x4y4 , and thus also the fourth part of that

shall be as square. But this fourth part is 7t —x* = y4 and thus is the difference of two
biquadratics, which is not possible.
V. Finally also, neither can this formula 2t - 2y4 be a square; since then neither of the

numbers X und Y shall be even, because otherwise they would have a common factor, and
also not with the one even and the other odd, because otherwise one part would be
divisible by 4 but the other part would be divisible only by 2, and thus the formula itself
would only be divisible by 2: thus both parts must be odd. Now on putting
X=p+(gandy=p—q, so that one part from the numbers p and g is even and the other

part odd, and since x4 - 2y4 =2(XX+ YY)(XX—yy), thus we find
XX+ Yy =2pp+209=2(pp+9q) and xx—Yyy =4p(q; thus our formula becomes

16 pg(pp +4qd) , of which the sixteenth part, namely pq(pp+dq), consequently also
must be a square. Now since the factors shall be mutually indivisible, thus each part must
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be a square. Now putting p=rr and g =ss for the first and second parts, thus the third

part becomes r* +s*, which also must be a square: but this is not possible.

210.

It can also be proven in the same manner, that this formula x* + 2y4 cannot be a square
; the proof of which is presented as follows.
I. Now X cannot be odd, because otherwise y must be odd, and the formula would only
be divisible by 2 but not by 4 : therefore X must be odd.
2pyy

II. Therefore the square root of our formula is put = xx +=y >80 that the same will be

odd ; thus there becomes
4pxxyy , 4ppy*
q * aqg
where the term x* vanishes, and moreover the remaining terms divided by yy and
multiplied by qq , give

4 paxx +4 ppyy = 2qqyy, oder 4 pgxx = 2qqyy —4ppyy ,

xtroyt=xt+

from which % = mz_—;pp ; from which it follows:

XX=0qq—-2pp andyy=2pq,

which now are the formulas that we have given above already.

III. Further, qq—2pp must be a square, which cannot be seen otherwise than by putting

g =1rr+2ss and p = 2rs; since then there would be Xxx = (rr — 2SS)2 ; but therefore there
would be 4rs(rr +2ss) = yy, and thus the fourth part rs(rr +2ss) must be a square, and
consequently r and S each in addition. Now putting r =tt and s =uu, thus the third factor

rr+2ss =t* +2u* , which must be a square also.

IV. Therefore if x* + 2y4 were a square, thus also t* +2u* would be a square, where the

numbers t and U would be far smaller than X and y; and smaller numbers of such a form
could arise always. Now since these numbers cannot be squares in small numbers, as it
can be proven easily, thus neither can the same with the largest numbers be squares.

211.

Whereas whatever relates to this formula x* — 2y4 , thus nothing can be proven from the
same, that they cannot become a square, and if in a similar way on puts the reasoning in
place, thus indeed so many cases can be found, where the same actually is a square.

Then if x* —2y* were a square, thus as was shown above, that there will be
XX = pp+2qq and yy =2p(q , because it is known then, that x* —2y* =(pp - 2qq)2 :

Since now also pp +2qq must be a square, thus this happens if
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p =rr—2ss and q = 2rs ; since then there becomes XX = (rr + 255)2 . Only here it is to be
observed well, that this also must happen, if one assumes p =2ss—rr and q =2rs,

therefore two cases are to be taken into consideration.
L. Initially let p =rr—2ss and g = 2rs, thus X =rr +2ss; and because Yy =2p(, thus

there shall be now Yy =4rs(rr —2ss) ; and thus r and s must be squares. Therefore we put
r=tt and s =uu, thus yy = 4ttuu (t4 —2u4); hence

y =2tur/(t* —2u*) and x =t* + 2u?;

therefore if t* —2u*is a square, thus also x*— 2y4 is a square; but if tand u are equal to
numbers smaller than x and Yy, then one can still as before not conclude, that x4 — 2y4
cannot be a square, therefore because one can arrive at a similar formula in smaller

numbers; then x* — 2y4 can be a square without coming from this form t4—2u?,

because this can still arise from another way, namely in that other case, that we still have
to examine.
II. Thus there shall be p =2ss—rr and g = 2rs, thus there will be just as before

X =1T +2ss, only for y there is obtained Yyy=2pq=4rs(2ss—Ir). Now on putting
r =tt and s = uu, thus it is obtained from that shown, that our formula x4 — 2y4 could

also be a square, if this 2ut —t* were a square. Moreover this clearly happens, if
t =1 and u =1; and therefore we obtain X =3 and y =2, from which our formula

x* —2y* becomes 81-2-16=49.
III. We have also seen above, that 2u* —t* becomes a square, if

u=13 andt =1, because then <2u4 —t4) =239 . Now we put these values for t and u,

thus we obtain a new case for our formula, namely
x=1+2-13*=57123 and y =2-13-239 = 6214.
IV. Thus finally moreover the values are found for X and y , thus the same values can be
written in the first formula no. I for t and u, since than further new values for X and y will

be obtained.
Since we have now found X =3 and y =2, thus let us put the given values into the

formula no. I, t=3 and u =2, since then \/(t4 - 2u4) =7, thus we obtain the following
new values X=81+2-16=113andy=2-3-2-7=84.
From this we obtain XX = 12769, and x* =163047361 ; further

yy = 7056 and y4 = 49787136, therefore x* — 2y4 = 63473089 of which the square root
is 7967, which also agrees perfectly with the initial put in place pp—2qq . Since then
t=3andu=2,thus r=9 and s =4, therefore p=81-32=49 and g =72, from
which pp—-2qq =2401-10368 =-7967 .
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CAPITEL 10

VON DER ART DIESE IRRATIONAL-FORMEL 3/(a +bx + cxx+ dx®)
RATIONAL ZU MACHEN

147.

Hier werden also solche Werthe fiir X erfordert daB diese Formel a-+bx+cxx+dx’ eine
Cubic-Zahl werde, und daraus also die Cubic-Wurzel gezogen werden konne. Hiebey ist
zu erinnern daf} diese Formel die dritte Potestét nicht iiberschreiten miif3e, weil sonsten
die Auflosung davon nicht zu hoffen wire. Sollte die Formel nur bis auf die zweyte
Potestit gehen und das Glied dx® wegfallen, so wiirde die Aufl3sung nicht leichter
werden: fielen aber die zwey letzten Glieder weg, also da3 diese Formel a + bx zu
einem Cubo gemacht werden miifite, so hétte die Sache gar keine Schwierigkeit, indem
p’-a

P

man nur setzen diirfte a+bx = p3 , und daraus so gleich gefunden wurde X =

148.

Hier ist wiederum vor allen Dingen zu mercken dafl wann weder das erste noch das
letzte Glied ein Cubus ist, an keine Auflosung zu gedencken sey, wofern nicht schon ein
Fall, darin die Formel ein Cubus wird, bekannt ist, derselbe mag nun so gleich in die
Augen fallen, oder erst durch probiren gefunden werden miiflen.

Das erstere geschieht nun, erstlich wann das erste Glied ein Cubus ist und die Formel

f3 +bx+cxx+dx’, wo der bekannte Fall ist X = 0 ; hernach auch wann das letzte Glied

ein Cubus und die Formel also beschaffen ist a+bx +cxx+ g°x°; aus diesen beyden

Féllen entspringt der dritte wo so wohl das erste als letzte Glied ein Cubus ist, welche
drey Félle wir hier erwegen wollen.

149.

I. Fall. Es sey die vorgegebene Formel f 3 +bx+cxx+dx®, welche ein Cubus werden

soll.
Man setze demnach die Wurzel davon f + px, also daf3 unsere Formel diesem Cubo

gleich seyn soll f 343 ffpx + 3 fppxx + p3 x> ; da nun die ersten Glieder von selbsten

wegfallen, so bestimme man p dergestalt daf auch die zweyten wegfallen, welches

geschieht wann b =3 ffp, oder p= 3% ; alsdann geben die tibrigen Glieder durch xx

dividirt diese Gleichung c+dx =3 fpp + p3 X, woraus gefunden wird X = % . Wire

das letzte Glied dx’ nicht vorhanden, so kénnte man die Cubic-Wurzel schlecht weg
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setzen = f , da man dann bekommen wiirde f 3 — 3 +bx+cxx:oder b+cx =0 und

b

daraus X = — » woraus aber nichts weiter geschloBen werden kdnnte.

150.
I1. Fall. Die vorgegebene Formel habe nun zweytens diese Gestallt a+bx+ cxx + g3 X,

man setze die Cubic-Wurzel p+ gx, davon der Cubus ist p3 +3gppX + 39gpXxx + g3 x>,
da sich dann die letzten Glieder autheben; nun bestimme man p also daf3 auch die letzten

ohne eins wegfallen, welches geschieht wann ¢ =3ggp oder p = ﬁ : alsdann geben die

a-p°
3gpp-b -
Wire das erste Glied a nicht vorhanden gewesen, so hétte man die Cubic-Wurzel

auch schlechtweg setzen konnen = gX, da denn g3 x> = X+ cxx + g3x3 oder

zwey ersten diese Gleichung a+bx = p3 +3gppx , woraus gefunden wird X =

0=b+cx, folglich x= —% ; welches aber gemeiniglich zu nichts dienet.

I51.

111. Fall. Es sey endlich drittens die vorgegebene Formel f> +bx+cxx+g°x>,

worinn so wohl das erste als letzte Glied ein Cubus ist; dahero dieselbe auf beyde
vorhergehende Arten tractiert und also zwey Werthe fiir X heraus gebracht werden
konnen.

AulBer diesen aber kann man auch noch die Wurzel setzen f + gx, also daf} unsere

Formel diesem Cubo gleich werden soll f 343 ffx+3 fggexx + g3X3 , da dann die erste
und letzten Glieder einander autheben, die iibrigen aber durch X dividirt diese Gleichung

geben b+cx =3 ffg +3fggx, und daraus x = S;ngg% ,

152.
Fillt aber die gegebene Formel in keine von diesen drey Arten, so ist dabey nichts
anders zu thun, als da3 man suche einen Werth zu errathen, da dieselbe ein Cubus wird:

hat man einen solchen gefunden welcher sey x =h, also da3 a-+bh+chh+ dh’® = k> , SO

setze man X =h+ Y, da dann unsere Formel diese Gestalt bekommen wird :
a

bh -+ by
chh+2chy +cyy

dh? +3dhhy + 3dhyy + dy?

k3 + (b +2ch+3dhh)y + (c +3dh)yy + dy?

welche zu der ersten Art gehort, und also fiir y ein Werth gefunden werden
kann, woraus man dann einen neuen Werth fiir X erhilt, aus welchem nachgehens
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auf gleiche Weise noch mehr gefunden werden konnen.

153.
Wir wollen nun diese Methode durch einige Exempel erldutern und erstlich diese Formel
1+ X+ xx vornehmen, welche ein Cubus seyn soll, und zur ersten Art gehdret. Man
konnte also sogleich die Cubic-Wurzel =1setzen, daraus gefunden wiirde X+ xx =0, das

ist X(l + X) =0; folglich entweder x =0 oder X =1, woraus aber nichts weiter folgt. Man

setze dahero die Cubic-Wurzel 1+ pXx, wovon der Cubus ist 1+3px +3 ppxx+ p3X3

und mache 1=3p oder p =% , so geben die iibrigen Glieder durch xx dividirt
2

;danun p=1 sowird X=-=-=18, und dahero unsere
27
Formel 1+18+324 =343, wovon die Cubic-Wurzel ist 1+ px = 7. Wollte man nun

weiter setzen X =18+ Y, so wiirde unsere Formel diese Gestalt bekommen
343+37y+ Yy, wovon nach der ersten Regel die Cubic-Wurzel zu setzen wére 7+ py,
wovon der Cubus ist

13pp

1_3pp+p X, oder X =

343+ 147py +21ppyy + p°y>:

nun setze man 37 =147p, oder p = so geben die iibrigen Glieder diese

147 ’
Gleichung 1=21pp+ p’y, also

_ 1-21pp : _ 34021147 _ _ 1049580
y=—7—,dasisty = = 50653

woraus noch weiter neue Werthe gefunden werden konnen.

154.
Es sey ferner diese Formel gegeben 2+ xx , welche ein Cubus werden soll. Hier muf3
nun vor allen Dingen ein Fall errathen werden da dieses geschieht, welcher ist X =5; man
setze demnach so gleich x=5+Y, so bekommt man 27 +10y + yy; davon sey die Cubic-

Wurzel 3+ py, und also die Formel selbst diesem Cubo 27+ 27py +9 ppyy + p3y3

gleich; man mache 10 =27p, oder p == so bekommt man 1=9pp + p3 y, und daraus

_1-pp _ 19927 _ 4617 83 . :
y= el das ist y =—-5:" odery = -5, und X =5+ heraus wird unsere Formel

24 XX = 2146689

_ 129 .
1000000 2

wovon die Cubic-Wurzel seyn mull 3+ py =

155.
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Man betrachte ferner diese Formel 1+ x> , ob dieselbe ein Cubus werden konne, aul3er
den zwey offenbahren Fillen X =0 und X =—1? Ob nun gleich diese Formel zum dritten
Fall gehoret, so hilft uns doch die Wurzel 1+ X nichts, weil der Cubus davon

1+3Xx+3%x+ X unserer Formel gleich gesetzt 3x+3xXx =0 oder x(1+x)=0 giebt, das
ist entweder X =0 oder x=-1.

Will man ferner setzen x =—1+ Yy, so bekommen wir diese Formel 3y —3yy + y3 :

welche ein Cubus seyn soll und zum zweyten Fall gehoret: setzt man daher die Cubic-
Wurzel p+Yy wovon der Cubus ist

p’+3ppy +3pyy +y’
und macht — 3=3p oder p=—1, so geben die librigen
3y=p’+3ppy =—1+3y,
folglich y =% das ist unendlich; woraus also nichts gefunden wird. Es ist auch alle Miihe
vergebens um noch andere Werthe fiir X zu finden, weil man aus andern Griinden
beweisen kann daB diese Formel 1+ x> auBer den gemeldten Féllen, nimmer ein Cubus

werden kann; dann man hat gezeiget da3 die Summ von zweyen Cubis als 2 +x°
niemals ein Cubus werden kann, dahero ist es auch nicht moglich in dem Fall t =1.

156.

Man behauptet auch daB3 2 + x> kein Cubus werden kénne auBer dem Fall x =—1; diese
Formel gehort zwar zu dem zweyten Fall, es wird aber durch die daselbst gebrauchte
Regel nichts heraus gebracht weil die mittlern Glieder fehlen. Setzt man aber x=—-1+Y,

so bekommt man diese Formel 1+3y—-3yy+ y3 , welche nach allen drey Féllen tractirt
werden kann. Setzt man nach dem ersten die Wurzel 1+ Yy, davon der Cubus

1+3y+3yy+ y3 ist, so wird —3yy =3yy, welches nur geschieht wann y = 0. Setzt man
nach dem zweyten Fall die Wurzel —1+ Yy, wovon der Cubus —1+3y-3yy + y3 ,
sowird 1+3y=-1+3yundy = % , welches unendlich ist. Nach der dritten Art miifite

man die Wurzel setzen 1+ Yy welches schon geschehen.

157.

Es sey diese Formel gegeben 3+ 3x> welche ein Cubus werden soll; dieses geschieht
nun erstlich in dem Fall X =—1, woraus aber nichts geschloen werden kann, hernach
aber auch in dem Fall X =2 : man setze deswegen X=2+ Y, so kommt diese Formel

heraus 27 +36y+18yy + 3y3 , welche zum ersten Fall gehoret, dahero sey die Wurzel

3+ py, wovon der Cubus 27+ 27 py +9 ppyy + p3 y3 ; man mache allso
36=27p oderp = % , so geben die iibrigen Glieder durch yy dividirt,
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18+3y=9pp+ p3y—16+64 y,oder Fy=-2, daheroy:— , folglich X——ﬁ,
hieraus wird unsere Formel 3+ 3x° = = — 3261, wovon die Cubic-Wurzel ist 3+ py = —21 ;

und aus diesem Werth konnte man noch mehrere finden wann man wollte.

158.
Wir wollen zuletzt noch diese Formel betrachten 4 + xx, welche in zwey bekannten
Féllen ein Cubus wird, nemlich wann X =2 und X =11. Setzt man nun erstlich Xx=2+Y,

so muf} diese Formel ein Cubus seyn 8+ 4y + yy, dessen Wurzel sey 2+4 Y, und also

die Formel =8+4y+2 W+ y woraus man erhilt 1 =2 St+a7 y dahero
y=9undx=11, welches der andere bekannte Fall ist.
Setzt man nun ferner X =11+ Yy, so bekommt man 125+ 22y + yy, so dem Cubo von

5+ py, das ist 125+75py +15ppyy + p3y3 gleich gesetzt, und p = % genommen, giebt
_ 3 3y — __109 . _ 122625 _ 5497
1=15pp+ p”y oder p”y =1-15pp = —57% ; dahero y =—<50%, und also X = -3¢ .

: . .. 242
Weil x so wohl negativ als positiv seyn kann so setze man X = %,

so wird unsere

3+8yy
(1-y)’

Formel , welche ein Cubus seyn soll; man multiplicire also oben und unten mit

8-8y+8yy-8y>
(1-y)’

nur noch der Zehler 8 —8y + 8yy — 8y3 oder eben derselbe durch 8 dividirt nemlich

1-y, damit der Nenner ein Cubus werde und da bekommt man , wo also

I-y+yy— y3 zu einem Cubo gemacht werden muf3, welche Formel zu allen drey Arten
gehort.
Setzt man nun nach der ersten Art die Wurzel =1-1 3 Y, wovon der

Cubus ist 1-y+1yy -y’ sowirdl—y: —%y oder 27-27y =9y,

1
3

dahero y ==, folglich 1+y = und 1-y==%, folglich x=11 wie vorher.

13 ’ 13 ’
Nach der andern Art, wann man die Wurzel setzen wollte +— Y, findet man eben

dasselbe.
Nach der dritten Art, wann man die Wurzel setzt 1-Yy, wovon der Cubus ist

1—3y+3yy—y3,bekommt man —1+Yy=-3+3y, und also y =1, folglich X=%, das ist

unendlich; dahero wird auf diese Art nichts neues gefunden.

159.

Weil wir aber diese zwey Fille schon wilen x =2 und x =11, so kann man setzen
2411y |
[E3Y

X = ;dannist Yy =0 so wird X =2, ist aber y unendlich grof3 so wird x==11.

2+11 .
y , so wird unsere Formel

Es sey demnach erstlich x =
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4+44y+121yy 8+52y+125yy
4 oder
1+2y+yy (l+y)2

man multiplicire oben und unten mit 1+ Yy, damit der Nenner ein Cubus werde, und nur

noch der Zehler welcher seyn wird 8 +60y +177yy + 125y3 , zu einem Cubo gemacht
werden soll.
Man setze demnach erstlich die Wurzel =2+ 5y, hierdurch wiirden nicht nur die zwey

ersten Glieder sondern auch die letzten wegtfallen, und also nichts gefunden werden.
Man setze demnach nach der zweyten Art die Wurzel p+5y, davon der Cubus

p +15ppy+75pyy+125y und mache 177 =75p, oder p = 25,50 wird

_ 2943 \, _ 80379 80379
8+60y = p +15ppy, dahero —<52y = 7555% und y = —3 == woraus
X gefunden werden konnte.
2+11y

Man kann aber auch setzen X = , und da wird unsere Formel

4 4+44y+121yy  8+36y+125yy
+ = 3 ,
1-2y+yy (l—y)

wovon der Nenner mit 1—Yy multiplicirt ein Cubus wird. Allso muf3 auch
8+ 28y +89yy —125 y3 ein Cubus werden.

Setzen wir hier nach der ersten Art die Wurzel =2+ < 2y, davon der Cubus ist

8+28y+ B yy+38y3 5o wurd 89-125y =28 +38y oder

3718 169

57y =-3,undalsoy = folglich x=11, welches der schon bekante Fall ist.

3718 22 ’
Setzt man ferner nach der dritten Art die Wurzel 2—-5y, wovon der Cubus ist

8—60y+150yy — 125y3 so erhalten wir 28+ 89y =-60+150y, foglich

y= 2? , woraus gefunden wird X =— 1(2’20 , und unsere Formel wir
“%816 welches der cubus ist von 136

160.

Dieses sind nun die bisher bekannten Methoden wodurch eine solche Formel, entweder
zu einem Quadrat oder zu einem Cubo gemacht werden kann, wann nur in jenem Fall die
hochste Potestit der unbestimmten Zahl den vierten Grad, in letzterm aber den dritten
nicht ubersteiget.

Man konnte noch den Fall hinzufugen da eine gegebene Formel zu einem Biquadrat
gemacht werden soll, in welchem die hochste Potestit die zweyte nicht ubersteigen muf.
Wann aber eine solche Formel a+bx+cxx ein Biquadrat seyn soll so muf} dieselbe vor
allen Dingen zu einem Quadrat gemacht werden, da dann nur noch ubrig ist daf3 die
Wurzel von diesem Quadrat noch ferner zu einem Quadrat gemacht werde, wozu die
Regel schon oben gegeben worden. Also wann zum Exempel XX+ 7 ein Biquadrat seyn
soll, so mache man dieselbe zuerst zu einem Quadrat welches geschieht wann

P99 o der auch x = 99=7PP -

X =
2pq 2pq

; alsdann wird unsere Formel gleich diesem Quadrat
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q'-14qqpp+49p* | 5 _ g*+14qgpp+49p*
4ppaq 4ppaq

wovon die Wurzel ist 7?% , welche noch zu einem Quadrat gemacht werden ,

muf}: man multiplicire demnach oben und unten mit 2pg, damit der Nenner ein Quadrat
werde, und alsdann wird der Zehler 2 pq(7 pp+0qq) ein Quadrat seyn muflen, welches

nicht anders geschehen kann als nachdem man schon einen Fall errathen hat. Man kann
zu diesem Ende setzen (= pz, damit diese Formel 2 ppz(7 pp + ppzz) = 2p4z(7 +22)
und also auch durch p* dividirt, nemlich diese 2z(7 + zz) ein Quadrat werden soll. Hier
ist nun der bekannte Fall z =1, dahero setze man z=1+Y, so bekommen wir

(2+2y)(8+2yy) =16+20y +6yy +2y°,
wovon die Wurzel sey 4 +% y, davon das Quadrat 16+ 20y + % yy , und unserer Formel

gleich gesetzt giebt 6+2y=%,y=% undz=%;danun Z=§ ,sowird q=9und p =8,

dahero X = % , daraus wird unsere Formel 7+ XX = 227097%‘21 , davon erstlich die Quadrat-
529 23

Wurzel ist und hievon nochmals die Quadrat-Wurzel wovon also unsere Formel

144 °
das Biquadrat ist.

12

161.
Endlich ist bey diesem Capitel noch zu erinnern, daf} es einige Formeln gebe welche auf
eine allgemeine Art zu einem Cubo gemacht werden konnen: dann wann z. E. cxX ein
Cubus seyn soll, so setze man die Wurzel davon = px, und da wird

CXX = p3X3 oder c = p3X , dahero x =% ; man schreibe éan statt p, so wird X = Cq3 .
p

Der Grund hiervon ist offenbahr weil die Formel ein Quadrat enthélt, dahero auch alle

dergleichen Formeln a(b+cx)? oder abb + 2abcx +accxx gantz leicht zu einem Cubo

gemacht werden konnen; dann man setze die Cubic-Wurzel davon = % so wird

(b+cx)’
@

q’-b

a(b+cx)* = welche durch (b +cx)” dividirt giebt a= 24 daraus x=29" wo
q

man ( nach Belieben bestimmen kann.

Hieraus erhellet wie hochst niitzlich es sey die vorgegebene Formel in ihre Factores
aufzuldsen so oft solches geschehen kann, und von dieser Materie soll weitlduffig in dem
folgenden Capitel gehandelt werden.

CAPITEL 11

VON DER AUFLOSUNG DIESER FORMEL axx +bxy +cyy IN FACTOREN

162.
Hier bedeuten die Buchstaben X und y nur allein gantze Zahlen, und wir haben auch aus
dem bisherigen, wo man sich mit Briichen begniigen muflte gesehen, wie die Frage
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immer auf gantze Zahlen gebracht werden kann. Dann ist z. E. die gesuchte Zahl X ein

Bruch so darf man nur setzen x = % , da dann fiir t und U immer gantze Zahlen angegeben

werden konnen, und weil dieser Bruch in der kleinsten Form ausgedriickt werden kann,
so konnen die beyden Buchstaben t und u als solche angesehen werden, die unter
sich keinen gemeinen Theiler haben.

In der gegenwirtigen Formel sind also X und y nur gantze Zahlen, und ehe wir zeigen
konnen wie dieselbe zu einem Quadrat, oder Cubo, oder einer noch hoheren Potestét
gemacht werden soll, so ist ndthig zu untersuchen, was man den Buchstaben X und y fiir
Werthe geben soll, dall diese Formel zwey oder mehr Factores erhalte.

163.

Hier kommen nun drey Félle zu betrachten vor: der erste ist, wann sich diese Formel
wiircklich in zwey rationale Factores auflosen 148t, welches geschieht, wie wir schon
oben gesehen haben, wann bb —4ac eine QuadratZahl wird.

Der andere Fall ist, wann diese beyde Factores einander gleich werden, in welchem die
Formel selbst ein wiirckliches Quadrat erithalt.

Der dritte Fall ist, wann sich dieselbe nicht anders als in irrationale Factores auflosen
1aBt, dieselben mogen schlechtweg irrational oder gar imaginér seyn; jenes geschieht
wann bb—4ac eine positive Zahl aber kein Quadrat ist, dieses aber wann bb —4ac
negativ wird. Dieses sind nun die drey Fille welche wir hier zu erwegen haben.

164.
LaBt sich unsere Formel in zwey rationale Factores aufldsen, so kann dieselbe also
vorgestellt werden ( fx+ gy)(hx +Kky), welche also schon ihrer Natur nach zwey Factores

in sich schliefft. Will man aber dal3 dieselbe auf eine allgemeine Art mehr Factores in sich
schlieBe, so darf man nur setzen fx+ gy = pq und hx+Kky =rs, da dann unsere Formel

diesem Product pqrs gleich wird, und also vier Factores in sich enthélt, deren Anzahl
nach Belieben vermehret werden konnte: hieraus aber erhalten wir fur X einen

pg-gy rs—ky

doppelten Werth nemlich X =-==,und X ==, woraus gefunden wird

hpg —hgy = frs— fky,, und also y =T hpq und x = X84 o

; damit nun X und y in gantzen

Zahlen ausgedriickt werde, so mii3en d1e Buchstaben p, q, r, s also angenommen werden,
daB sich der Zehler durch den Nenner wiircklich theilen laBe, welches geschieht, wann
sich entweder p und roder q und s dadurch theilen la3en.

165.
Um dieses zu erldutern so sey diese Formel vorgegeben XX — Yy, welche aus diesen

Factoren besteht (X + y)(X—Y) : soll dieselbe nun noch mehr Factoren haben, so setze

pq+rs q IS |

man X+ Y= pqund X—Yy =rs, so bekommt man X = undy = ; damit nun

diese Zahlen gantz werden, so miiflen die beiden Zahlen pg und rs zuglelch entweder
gerad seyn oder beyde
ungerad.
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Esseyz. E. p=7,9=5 r=3unds=1, sowird pq=35undrs=3, folglich
X =19 und y =16: dahero entspringt XX —yy =105, welche Zahl wiircklich aus den
Factoren 7-5-3-1 besteht; also hat dieser Fall nicht die geringste Schwierigkeit.

166.
Noch weniger Schwierigkeit hat der zweyte Fall, wo die Formel zwey gleiche Factores

in sich schliefit und demnach also vorgesteilet werden kann ( X+ gy)2 , welches Quadrat

keine andere Factoren haben kann als welche aus der Wurzel fx gy entspringen, setzt man
also fx+ gy = pgr, so wird unsere Formel ppqqrr und kann also so viel Factoren haben

als man will.
Hier wird von den zwey Zahlen X und y nur eine bestimmt, und die andere unserem

Belieben frey gestellt, dann man bekommt X = pqrf—gy , wo Y leicht so angenommen

werden kann daf3 der Bruch wegfilt. Die leichteste Formel von dieser Art ist XX, nimmt
man X = pqr, so schlieBt das Quadrat xx drey quadratische Factoren in sich, nemlich pp,

qq und rr.

167.

Weit mehr Schwierigkeiten aber hat der dritte Fall, wo sich unsere Formel nicht in zwey
rationale Factoren auflosen 14Bt, und da erfordert es besondere Kunstgriffe fiir X und y
solche Werthe zu finden, aus welchen die Formel zwey oder mehr Factoren in sich
enthélt. Um diese Untersuchung zu erleichtern so ist zu mercken, da3 unsere Formel
leicht in eine andere verwandelt werden kann, wo das mittlere Glied fehlet, man darf

nemlich nur setzen X = z;t&)ly , da dann diese Formel heraus gebracht wird:
2z-2byz+bbyy | 2byz-bbyy _ 2z+(4ac-hb)yy
4a T T = 4a )

Wir wollen demnach so gleich das mittlere Glied weglaflen und diese Formel
betrachten axx+cyy, wobey es darauf ankommt, was man den Buchstaben x und Y fiir
Werthe beylegen soll, damit diese Formel Factores erhalte. Es ist leicht zu erachten daf3
solches von der Natur der Zahlen a und ¢ abhédnge, und deswegen wollen wir mit einigen
bestimmten Formeln dieser Art den Anfang machen.

168.
Es sey also erstlich diese Formel gegeben Xxx+ yy, welche alle Zahlen in sich begreifet,
so eine Summ von zwey Quadraten ist, und wovon wir die kleinsten bis 50 hier vorstellen

wollen.
1,2,4,5,8,9,10, 13, 16, 17, 18, 20, 25, 26, 29, 32, 34, 36, 37, 40, 41, 45, 49, 50,

unter welchen sich einige Prim-Zahlen befinden die keine Theiler haben, als 2, 5, 13, 17,
29, 37, 41; die {ibrigen aber haben Theiler, woraus die Frage deutlicher wird, was man
den Buchstaben x und y fiir Werthe geben mii3e, dal die Formel xx+ yy Theiler oder

Factores hat und zwar so viel man ihrer will, wobey wir vor allen Dingen die Fille
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ausschlieBen wo X und y einen gemeinen Theiler unter sich haben, weil alsdann xx+ yy

sich auch durch denselben Theiler, und zwar durch das Quadrat desselben wiirde theilen
laBen; dann wére z. E. x=7p und y = 7q so wiirde die Summ ihrer Quadrate

49 pp +49qq =49(pp +qq) sich gar durch 49 theilen laen. Dahero geht die Frage nur

auf solche Formel wo X und y keinen gemeinen Theiler haben oder unter sich untheilbahr
seyn. Die Schwierigkeit félt hier bald in die Augen, dann ob man gleich sieht, da3 wann
die beyden Zahlen X und y ungerad sind alsdann die Formel xx+ yy eine gerade Zahl und

also durch 2 theilbahr werde; ist aber eine gerad und die andere ungerad, so wird die
Formel ungerad, ob sie aber Theiler habe oder nicht? ist nicht so leicht zu

sehen. Beyde Zahlen aber X und y kénnen nicht gerad seyn, weil sie keinen
gemeinen Theiler unter sich haben miif3en.

169.
Es seyen demnach die beyden Zahlen X und y untheilbahr unter sich, und gleichwohl
soll die Formel xx+ Yy zwey oder mehr Factores in sich enthalten. Hier kann nun die

obige Methode nicht statt finden, weil sich diese Formel nicht in zwey rationale Factores
auflosen 148t; allein die irrationale Factores, in welche diese Formel aufgel6Bt wird und
durch dieses Product vorgestellet werden kann (x + y\/jl ) “(X— y\/—T ) konnen uns eben

denselben Dienst leisten; dann wann die Formel xx+ yy wiirckliche Factores hat, so

miiflen die irrationale Factoren wiederum Factores haben, indem wann diese Factoren
keine weitere Theiler hatten, auch ihr Product keine haben konnte. Da aber diese Factores
irrational ja so gar imaginér sind, und auch die Zahlen X und y keinen gemeinen Theiler
haben sollen, so konnen dieselben keine rationale Factores haben, sondern sie mii3en
irrational und so gar imagindr von gleicher Art seyn.

170.
Will man also daf} diese Formel xx+ yy zwey rationale Factores bekomme, so gebe man

beyden irrationalen Factoren auch zwey Factores, und setze erstlich

X+Yy J-1= (p+ qul)(r + S\/—71) , da dann weil J=1 so wohl negativ als positiv
genommen werden kann von selbsten seyn wird X — y\/—_l =(p- q\/TI )(r— sv—1 ), also
daB das Product davon, das ist unsere Formel seyn wird xx+ yy =(pp+0qq)(rr+ss) und

dieselbe folglich zwey rationale Factores enthilt, nemlich pp+qq und rr +ss . Hier ist

aber noch iibrig die Werthe von X und y zu bestimmen, als welche auch rational seyn
miiflen.
Wann man nun jene irrationale Factores mit einander multiplicirt, so bekommt man

X+ yv/—1 = pr—qgs+ psv/—1+qry/-1
und

X—y+/—1 = pr—gs— psv/-1 - qrv/1,
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addirt man diese Formeln, so wird X = pr —gs; subtrahirt man dieselben aber von

einander, so wird 2y\/—7 =2 pS\/TI + 2qr\/—71, odery=ps+qr.
Nimmt man also X = pr- gqs und y = ps + gr, so erhilt unsere Formel XX+ yy gewil}
zwey Factores, indem herauskommt
XX+ yy =(pp+qq)(rr+ss).
Verlangte man mehr Factores so diirfte man nur auf eben diese Art p und q so annehmen,
daBB pp+qq zwey Factores hitte, und alsdann hitte man in allem drey Factores, deren
Zahl auf gleiche Art nach Belieben vermehret werden kann.

171.
Da hier nur die Quadrate von p, g, r und S vorkommen, so konnen diese Buchstaben auch
negativ genommen werden: nimmt man z. E. g negativ, so wird X+qsundy = ps—qr,

von welchen die Summ der Quadraten eben diejenige ist als vorher; daraus ersehen wir,
daB wann eine Zahl einem solchen Product ( pp+0qq)(rr+ss) gleich ist, dieselbe auf
eine doppelte Art in zwei Quadrate zerlegt werden konne, indem man gefunden erstlich
X=pr—gsundy= ps+qr,
und hernach auch
X=pr+gs und y=ps—qr.
Esseyz. E. p=3, =2, r=2unds=1, also dal} dieses Product heraus kdme
13-5=65=xx+Yy, da dann seyn wird entweder X=4undy =7, oder Xx=8undy =1;
in beyden Féllen aber ist XX+ yy =65 . Multiplicirt man mehrere dergleichen Zahlen mit
einander, so wird auch das Product noch auf mehrere Arten eine Summ von zwey
Quadrat-Zahlen seyn. Man multiplicire z. E. 22412 =5,32+22 =13, und 4> +1> =17

mit ein ander, so kommt 1105 welche Zahl auf folgende Arten in zwey Quadraten
zerlegt werden kann:

1) 33% +4%,11) 322 +92,11L) 31% +12%,1v.) 24% +23%

172.

Unter den Zahlen die in der Form xx+ Yy enthalten sind, befinden sich also erstlich
solche, die aus zwey oder mehrere dergleichen Zahlen durch die Multiplication
zusammen gesetzt sind; hernach aber auch solche welche nicht solchergestalt zusammen
gesetzt sind: diese wollen wir einfache Zahlen von der Form XX+ yy nennen, jene aber

zusammengesetzte; dahero werden die einfache Zahlen dieser Art seyn
1,2,5,9,13,17,29, 37, 41, 49 etc.

In welcher Reihe zweyerley Zahlen vorkommen, nemlich Prim-Zahlen oder solche
welche gar keine Theiler haben als 2, 5, 13, 17, 29, 37, 41 und welche alle auller 2 so
beschaffen sind, daB wann man 1 davon weg nimmt das {ibrige durch 4 theilbahr werde,
oder welche alle in dieser Form 4n+1 enthalten sind: hernach sind auch Quadrat-Zahlen
vorhanden 9, 49 etc. deren Wurzeln aber 3, 7 etc. nicht vorkommen; wobey zu mercken,
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dal} diese Wurzeln 3, 7 etc. in dieser Form 4n—1 enthalten sind. Es ist aber auch
offenbahr daf} keine Zahl von dieser Form 4n—1 eine Summ von zwey Quadraten
seyn konne, dann da diese Zahlen ungerad sind, so miifite eines von den beyden
Quadraten gerad das andere aber ungerad seyn; wir haben aber gesehen, daB alle gerade
Quadraten durch 4 theilbahr sind, die ungeraden aber in dieser Form 4n+1 enthalten
sind; wann man dahero ein grades und ein ungrades Quadrat zusammen addirt, so
bekommt die Summ immer diese Form 4n+1, niemals aber diese Form 4n—1. Dal} aber
alle Prim-Zahlen von der Form 4n+1 eine Summ von zwey Quadraten seyn, ist zwar
gewil, aber nicht so leicht zu beweisen.

173.
Wir wollen weiter gehen, und die Formel xx+2Yyy betrachten, um zu sehen was X und y

fiir Werthe haben miifien damit dieselbe Factores erhalte. Da nun diese Formel durch
diese imagindre Factores vorgestellet wird

(x+y3=2)(x-yv=2),

so ersieht man wie vorher, dafl wann unsere Formel Factores hat, auch ihre imaginére
Factores welche haben miilen; man setze dahero erstlich

X+ y\/3=(p+q\/3)(r+s\/3),

so folget von selbsten daB3 auch seyn miile und hieraus wird unsere Formel
XX+ 2Yy = (pp-+29q)(rr +2ss), und hat also zwey Factores, deren so gar ein jeder von

eben derselben Art ist; damit aber dieses geschehe so miilen gehorige Werthe fiir X und y
gefunden werden, welches folgender Gestalt geschehen kann. Da

X+ yv=2 = pr—2gs+qry/=2 + psv'-2

und

X—yv—2 = pr—2gs—qrv—2 — psv—2

so ist die Summ 2X =2 pr —4qs, folglich x = pr —2gs; hernach giebt die Differenz

2y\/3 = 2qr\/3 +2 pr/z , dahero y =qr + ps. Wann also unsere Formel xx+2yy

Factores haben soll, so sind dieselben immer also beschaffen, da3 der eine seyn wird
pp +20g und der andere rr+2ss, oder sie sind beyde Zahlen von eben der Art als

XX+2Yyy ; und damit dieses geschehe so konnen X und y wieder auf zweyerley Art

bestimmt werden, weil g so wohl negativ als positiv genommen werden kann. Man wird
nemlich haben, erstlich x—2qs und y = ps+qQr , und hernach auch

X=pr+2qsundy=ps—qr.

174.
Diese Formel xx+2yy enthélt also alle diejenigen Zahlen in sich, welche aus einem

Quadrat und einem doppelten Quadrat bestehen, und welche wir hier bis auf 50 setzen
wollen: 1,2, 3,4,6,8,9, 11, 12,16, 17, 18, 19, 22, 24, 25, 27, 32, 33, 34, 36, 38, 41, 43,
44, 48, 49, 50; die wir wieder wie vorher in einfache und zusammengesetzte abtheilen
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konnen; da werden dann die einfachen, welche nicht aus den vorhergehenden
zusammengesetzt sind, folgende seyn 1, 2, 3, 11, 17, 19, 25, 41, 43, 49 welche alle auller
den Quadraten 25 und 49 Prim-Zahlen sind; von denen aber die hier nicht stehen
kommen die Quadrate vor. Man kann hier auch bemercken daf} alle PrimZahlen
die in unserer Formel enthalten sind, entweder in dieser Form 8n+1 oder in dieser 8n+3
gehoren, da hingegen die iibrigen welche entweder in dieser Form 8n+35 oder in dieser
8n+7 enthalten sind, nimmermehr aus einem Quadrat und einem doppelten Quadrat
bestehen kdnnen: es ist aber auch gewis daf alle Primzahlen, die in einer von den ersten
beyden Formen 8n+1 und 8n+3 enthalten sind, sich allezeit in ein Quadrat und ein
doppeltes Quadrat auflosen lalen.

175.
LaB3t uns auf eine gleiche Weise zu dieser allgemeinen Formel XX+ cyy fortschreiten,

und sehen was man X und y fiir Werthe geben muf}, damit diese Formel Factores erhalte.
Da nun dieselbe durch dieses Produkt vorgesteilet wird

(x+ yv—c)(x—yv-¢),

so gebe man einem jeden dieser Factoren wiederum zwey Factores von gleicher
Art: man setze nemlich

X+ Y/~ = (p+av—c)(r +sv—c),

und

x=yv-¢ =(p-av=c)(r-sv=c);
und da wird unsere Formel werden

XX+cyy = (pp+cqq)(rr +css),

woraus erhellet daf die Factores wiederum von eben der Art als die Formel selbst seyn
werden, die Werthe aber von X und y werden sich folgender Gestalt verhalten:

X = pr—cqgs und y =qr + ps,oder X = pr +cgs und y = psS—qr , und hieraus ist leicht
abzusehen wie unsere Formel noch mehr Factores erhalten kénne.

176.
Nun ist es auch leicht dieser Formel xx—cyy Factores zu verschaffen, weil man nur —c

anstatt +C schreiben darf; inzwischen laflen sich dieselben auch unmittelbar also finden;
da unsere Formel diesem Product gleich ist (X + y\/E )(X— y\/E ), so setze man

X+ y«/E =(p+q«/€)(r +S\/E) und X — y\/E = ( p—CI\/E)(r —S«/E), woraus sogleich diese

Factores erfolgen xx—cyy =(pp—cqq)(rr—css), welche wieder von eben der Art als

unsere Formel selbst sind; die Werthe aber von X und Yy la3en sich auch wiederum auf
eine doppelte Art bestimmen nemlich erstlich x = pr+cgs, y =qr + ps, und hernach

auch X = pr—cqgs undy = ps—qr. Will man die Probe machen ob solchergestalt das
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gefundene Product herauskomme, so probire man die erstern Werthe, da dann seyn wird
XX = pprr+2cpgrs +ccqqss und yy = ppss + 2 pgrs +qqrr , also
Cyy = Cppss + 2cpgrs +cqqrr , woraus man erhélt:
XX —CYyy = Pprr —cppss + ccqass — cqqrr

welches mit dem gefundenen Product ( pp—cqq)(rr—css) iiber einkommt.

177.
Bis hieher haben wir das erste Glied blos betrachtet, nun wollen wir setzen dafl dasselbe
auch mit einem Buchstaben multiplicirt sey, und suchen was die Formel axx+cyy fiir

Factores erhalten konne.
Hier ist nun klar daB3 unsere Formel diesem Product gleich sey

(xva + yv—c)(x+/a - yv/—¢),

welchen beyden Factoren demnach wiederum Factores gegeben werden miiflen.
Hierbey aber ereignet sich eine Schwierigkeit, dann wann man zu folge der obigen Art
setzen wollte

Xva+ y«/—_c:(p\/5+q\/—_c)(r\/a+s«/—_c) =apr—cags + ps\/—_ac+qr\/—_ac,

und

x+/a — y«/—_c =(p\/5—q\/—_c)(r\/5—s\/—_c) =apr-cgs— ps\/—_ac—qr\/—_ac,

woraus man erhielte

2x+/a =2apr —2cgs,und 2yv/—¢ =2 psv/-ac + 2qrv/-ac,

so wiirde man so wohl fiir x als y irrationale Werthe finden, welche hier keineswegs
stattfinden.

178.
Dieser Schwierigkeit aber kann abgeholffen werden, wann man setzet:

x+/a + yv/—¢ = (pva + gv/=c)(r + sv'—ac) = pr+/a —cgs+/a + qr/—c + apsv/—c,

und

xv/a —yv=c = (pva —gy-e)(r —sv-ac) = prya —cgsva - qry~c —apsy-c;
woraus nun fiir X und y folgende rationale Werthe gefunden werden:
X = pr—cqgs und y = qgr +aps, alsdann aber wird unsere Formel folgende Factores
bekommen
axx +cyy = (app +cqq)(rr +acss),
von welchen nur einer eben die Form hat als unsere Formel, der andere aber von einer
gantz anderen Gattung ist.

179.
Unterdessen stehen doch diese zwey Formeln in einer sehr genauen Verwandtschaft
mit einander, indem alle Zahlen so in der ersteren Form enthalten sind, wann sie mit einer
Zahl von der zweyten Form multiplicirt werden, wiederum in die erste Form fallen. Wir
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haben auch schon gesehen, dall zwey Zahlen von der zweyten Form xx+acyy, als

welche mit der obigen XX +cyy iibereinkommt, mit einander multipliciret wieder eine

Zahl von der zweyten Form geben.
Also ist nur noch zu untersuchen, wann zwey Zahlen von der ersten Form XX +acyy mit

einander multiplicirt werden, zu welcher Form das Product alsdann gehore.
Lal3t uns demnach diese zwey Formeln von der ersten Art
(app +cqq)(arr +css)

mit ein ander multipliciren, und da ist leicht zu sehen daB3 ihr Product also vorgestellt
werden konne (apr + Cqs)2 + ac( ps— qr)2 . Setzen wir nun hier

apr +cgs = x und ps—qr =y, so bekommen wir diese Formel xx+acyy welche von der
letzteren Art ist; dahero dann zwey Zahlen von der erstern Art axx +cyy mit einander

multiplicirt eine Zahl von der zweyten Art geben, welches man kiirtzlich also vorstellen
kann: die Zahlen von der ersten Art wollen wir durch I, die von der andern Art aber durch
IT andeuten, und also I-1 giebt II; I-1I giebt I; II-1I giebt 11, woraus auch ferner erhellet,
was heraus kommen miisse, wann man mehrere solche Zahlen mit ein ander multiplicirt:
als I-I T giebt I; I-I-1I giebt IT; I-1I-1I giebt I; IT-1I-IT giebt II.

180.
Um dieses zu erldutern so sey a =2 und ¢ =3 woraus diese zwey Arten von Zahlen
entspringen, die erste ist enthalten in der Form 2xx+3yy, die andere aber in der Form

XX+ 6Yy . Nun aber sind die Zahlen der erstern bis auf 50 folgende:
1.)2,3,5,8,11, 12, 14, 18, 20, 21, 27, 29, 30, 32, 35, 44, 45, 48, 50.
In der zweyten Art sind folgende Zahlen bis 50 enthalten:

1) 1,4,6,7,9,10, 15, 16, 22, 24, 25, 28, 31, 33, 36, 40, 42, 49.

LaBt uns nun eine Zahl von der ersten Art z. E. 35 mit einer von der zweyten Art 31
multipliciren, so ist das Product 1085, welche Zahl gewil3 in der Form 2xx+ 3yy
enthalten ist, oder man kann vor y eine solche Zahl finden da3 1085—-3yy ein doppeltes
Quadrat nemlich 2xx werde; dieses geschieht nun erstlich wann y =3, dann da wird
X =23 ; hernach auch wann y =11, dann da wird X =19 ; drittens auch noch wann
y =13, dann da wird x =17, und endlich viertens wann y =19, dann da wird x=1.

Man kann diese beyde Arten von Zahlen wiederum in einfache und zusammengesetzte
abtheilen, indem diejenigen zusammengesetzte sind welche aus zwey oder mehr kleinem
Zahlen von der einen oder der andern Art bestehen: also werden von der ersten Art die
folgende einfach seyn: 2, 3, 5, 11, 29, diese aber zusammengesetzt 8, 12, 14, 18, 20, 21,
27,30, 32, 35, 44, 45, 48, 50. Von der zweyten Art aber sind folgende einfach 1, 7, 31,
die iibrigen sind alle zusammengesetzt nemlich 4, 6, 9, 10, 15, 16, 22, 24, 25, 28, 33, 36,
40, 42, 49.



Euler's ALGEBRA Book II, Section II; Ch's. 10-13.
Translated from German by Ian Bruce, 7/23/2016,
and free download at 17centurymaths.com
676
CAPITEL 12

VON DER VERWANDELUNG DIESER FORMEL axx +cyy IN QUADRATEN
ODER AUCH HOHEREN POTESTATEN

181.
Wir haben schon oben gesehen, da3 Zahlen von dieser Form axx+cyy ofters unmdglich

zu Quadrate gemacht werden konnen: so oft es aber moglich ist, so kann diese Form in
eine andere verwandelt werden in welcher a =1 ist. Z. E. diese Form 2pp —qg kann ein
Quadrat werden, sie 148t sich aber auch solcher Gestalt vorstellen (2p+ q)2 -2(p+q )2 .

Setzt mannun 2p+qg=Xund p+q=Y, so kommt diese Formel Xx—2yy heraus,

wo a=1 und ¢c=-2 ist. Eben eine solche Verwandelung findet auch immer statt, so oft
es moglich ist dergleichen Formeln zu einem Quadrat zu machen.
Wann demnach diese Formel axx+cyy zu einem Quadrat oder einer andern hohern

geraden Potestit gemacht werden soll, so kdnnen wir sicher setzen a =1, und die iibrigen
Fillen als unmdglich ansehen.

182.
Es sey daher diese Formel vorgelegt xx +cyy, welche zu einem Quadrat gemacht

werden soll. Da nun dieselbe aus diesen Factoren besteht
(x+ y\/—_c)(x— y\/z)

so miien dieselben entweder Quadraten, oder mit einerley Zahlen multiplicirte Quadrate
seyn. Dann wann das Product von zweyen Zahlen ein Quadrat seyn soll, als z. E. pq, so
wird erfordert, entweder dal p =rr und q =SS, das ist da3 ein jeder Factor vor sich ein

Quadrat sey, oder da3 p =mrr und g = mss, das ist da3 die Factores Quadrate mit
einerley Zahl multiplicirt seyen, deswegen setze man X+ y+/—C =m(p+g+/—C )2 , so wird
von selbsten X — y+/—C =m(p—Q+/ —C)2 , dahero bekommen wir

XX +Ccyy = mm(pp+ qu)2 , und wird also ein Quadrat. Um aber X und y zu bestimmen, so
haben wir diese Gleichungen

X+ y\/—_:mpp+2mpqx/—_ —mcqq

und

X~ y~/~¢ =mpp—2mpey/~c —meqq,

wo offenbahr das X gleich seyn mufl dem rationalen Teil, y\/—_c aber dem irrationalen

Theil; dahero wird X =mpp — mcqq und y«/—_ = 2mpq\/—_c oder y =2mp(q . Setzt man
also Xx=mpp—mcqq und y =2mpq, so wird unsere Formel XX+ Cyy ein Quadrat,

nemlich mm(pp + qu)z, davon die Wurzel ist mpp +mcqq .
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183.

Sollen die zwey Zahlen X und y unter sich untheilbahr seyn, oder keinen gemeinen
Theiler haben, so muB3 m =1 gesetzt werden. Wann daher xx+cyy ein Quadrat seyn soll,
so nimmt man nur X = pp—cqqg und y =2 pq, da dann diese Formel dem Quadrat von

pp+cqg gleich wird. Anstatt dal man setzt X = pp—cqq , so kann man auch setzen
X =cqqg— pp, weil beyderseits das Quadrat XX einerley wird. Dieses sind nun eben
diejenige Formeln, die wir schon oben aus gantz anderen Griinden gefunden haben,
wodurch die Richtigkeit der hier gebrauchten Methode bestitiget wird.

Dann nach der vorigen Methode, wann xx+cyy ein Quadrat seyn soll, so setzt man die

Wurzel = X+ % , und da bekommt man XX+ Cyy = XX+ % +p§—qyy ,

autheben die librigen Glieder aber durch y dividirt und mit qq multiplicirt geben

cqqy = 2 pgx + ppy, oder cqqy — ppy = 2 pgx ; man theile nun durch 2pq und durch y, so

€qq—pp
2pq

sind, so muf3 X dem Zehler und y dem Nenner gleich seyn, folglich

X=cqq— pp undy =2pq, wie vorher.

wo sich die xx

wird % = . Da aber x und y untheilbahr seyn sollen, wie auch p und g dergleichen

184.

Diese Auflosung gilt, die Zahl ¢ mag positiv oder negativ seyn; hat dieselbe aber
selbsten Factores, als wann die vorgegebene Formel wire xx + acyy welche ein Quadrat
seyn soll, so findet nicht nur die vorige Auflosung statt, welche gibt
X =acqq— pp und y =2 pq, sondern auch noch diese x =cqq—app undy =2pq; dann
da wird ebenfals

XX +acyy = ccq” + 2acppqq + aap* = (cqq + app)?,

welches auch geschieht, wann man nimmt X = app —cqq, weil das Quadrat XX in beyden

Féllen einerley herauskommt.
Diese neue Auflosung wird auch durch die hier gebrauchte Methode also
gefunden. Man setze

x+yv-ac = (pva+gv-c)? und x-yv/-ac = (pva-qv-c)?,

damit herauskomme xx+ acyy = (app + qu)2 , und also gleich einem Quadrat;
alsdann aber wird

X+ y+/—ac = app + 2 pgv/—ac —cqq
und

X—y~—-ac =app —2pgv-ac—cqq,
woraus folgt

X =app—cqq und y = 2pq.
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LaBt sich also die Zahl ac auf mehrerley Arten in zwey Factoren zertheilen so kann man
auch mehrere Auflosungen angeben.

185.
Wir wollen dieses durch einige bestimmte Formeln erldutern, und erstlich diese Formel
XX+ Yy betrachten, welche ein Quadrat werden soll. Da nun hier ac =1, so nehme man

X=pp—qqundy=2pq, so wird
XX+ Yy = (pp+qa)°.
Soll zweytens diese Formel xx —yy ein Quadrat werden, so ist ac = —1; man nehme also
X=pp+0qqundy=2pq, da dann xx— yy:(pp—qq)zwird.
Soll drittens diese Formel xx+2yy ein Quadrat werden, wo ac =2, so nechme man
X = pp—2qgd,oder Xx=2pp—qg und y =2pg, und dann wird

XX+2Yyy =(pp+2qq),oder XX+ 2yy = (2pp + qq)2 .
Soll viertens diese Formel xx—2Yyy ein Quadrat werden wo ac = -2, so nechme man

X=pp+2qq undy =2pg, da dann kommt
Xx-2yy = (pp—2da)°.
Soll fiinftens diese Formel xx+6yy ein Quadrat werden wo ac =6, und also entweder

a=1und c=6, oder a=2 und ¢ =3; so kann man erstlich setzen
X=pp-6qgq undy =2pq, da dann

XX+2yy = (pp+2qq)*
Hernach kann man auch setzen Xx=2pp—-3qq undy =2pq, da dann

XX+6Yyy = (2 pp+3qq)2.

186.

Sollte aber diese Formel axx+cyy zu einem Quadrat gemacht werden, so ist schon
erinnert worden, daf3 dieses nicht geschehen kdnne wofern nicht schon ein Fall bekant ist,
in welchem diese Formel wiircklich ein Quadrat werde. Dieser bekante Fall sey demnach,
wann X= f undy =g, also da} aff +cgg = hh; und alsdann kann unsere Formel in einer

andern von dieser Art tt + acuu verwandelt werden, wann man setzt

t= afx+cgy und U = gx—fy :
h h
dann da wird

tt = aaffxx+2acfgxy+ccggyy
- hh

ggxx—2 fgxy+ ffyy

und uu = mh ,

woraus folgt
aaffxx+ccggyy+acggxx+acffyy _ axx(aff +cgg)+cyy(aff +cgg) |
hh - hh >

tt+acuu =
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da nun aff +cgg = hh,so wird tt + acuu = axx + cyy ; und solchergestalt bekommt die

vorgelegte Formel axx+cyy diese Form tt+acuu, welche nach den hier gegebenen
Regeln leicht zu einem Quadrat gemacht werden kann.

187.
Nun wollen wir -weiter fortgehen und zusehen wie diese Formel axx+cyy, wo x und y

unter sich untheilbahr seyn sollen, zu einem Cubo gemacht werden konne; wozu die
vorigen Regeln keinesweges hinlédnglich sind, die hier angebrachte Methode aber mit
dem besten Fortgang angewandt werden kann: wobey noch dieses insonderheit zu
mercken, daf3 diese Formel allezeit zu einem Cubo gemacht werden kénne, die Zahlen a
und ¢ mogen beschaffen seyn wie sie wollen, welches bey den Quadraten nicht angieng,
wofern nicht schon ein Fall bekannt war; welches auch von allen andern geraden
Potestiten gilt; bey den ungeraden aber, als der dritten, fiinften, siebenten etc.

Potestit, ist die Auflosung immer moglich.

188.
Wann demnach diese Formel axx+cyy zu einem Cubo gemacht werden soll, so setze

man auf eine dhnliche Weise als vorher
3 3
xa+ yv=c =(pva+av=c) und xJa-yv-c =(pva-qv=c),

dann daraus wird das Product axx+cyy = (app + qu)3 , und also unsere Formel

ein Cubus: es kommt aber nur darauf an, ob auch hier X und y auf eine rationale Art
bestimmt werden konne? welches gliicklicher weise gelingt; dann wann die angesetzte
Cubi wiircklich genommen werden, so erhalten wir diese zwei Gleichungen

xva + y~/—c = ap*v/a +3appgv/—c — 3cpag/a — cq*v-c,

und

x/a — yv/—c = ap*v/a — 3appg+/—c — 3cpqa+/a + cq’v/—c,

woraus offenbahr folgt, dal3
x =ap> —3cpqq und y =3appgq —cq°.
Man suche z. E. zwey Quadrate XX und yy, deren Summ XX+ yy einen Cubus ausmache:
weil nun hier a=1 und ¢ =1, so bekommen wir
x=p’-3pqq undy =3ppg-q’,
und alsdann wird xx+ yy = (pp + qq)3 .Esseynun p=2undqg=1, so
wird X=2und y =11; hieraus xx+ yy:125:53.

189.
Wir wollen noch diese Formel betrachten xx+3yy, welche zu einem Cubo gemacht

werden soll: weil nun hier a=1und ¢ =3, so wird
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x=p’-9pqq und y =3ppg-3q°,
und alsdann xXxX+3yy =(pp+ 3qq)3 . Weil diese Formel 6fters vorkommt wollen wir
davon die leichtere Félle hieher setzen.
p q X y XX +3yy
1 1 8 0 64 = 4°
2 1 10 9 343 =73
! 2 3> 18 2197 =13’
3 1 0 24 1728 =12
1 3 80 72 21952 = 28°
3 2 81 30 9261=21°
2 3 154 45 29791 =313
190.

Wire die Bedingung nicht vorgeschrieben, da3 die beyden Zahlen X und y unter sich
untheilbahr seyn sollen, so hitte die Frage gar keine Schwierigkeit: dann wann axx + cyy

ein Cubus seyn soll, so setze man X =1z und y = uz, so wird unsere Formel attzz + cuuzz

welche dem Cubo Z—; gleich gesetzt werde, woraus so gleich gefunden wird
Vv

7=\ (att + cuu) ; folglich sind die gesuchte Werthe fiir X und y,

x =tv’ (att+cuu)und y = uv’ (att +cuu), welche auBer dem Cubo v’ noch att +cuu
zum gemeinen Theiler haben: diese Auflosung giebt so gleich

axx+cyy = v° (att +cuu)’ (att +cuu) = V0 (att + cuu)?,

welches offenbahr der Cubus ist von V2 (att+cuu).

191.
Die hier gebrauchte Methode ist um so viel merckwiirdiger, da wir durch Hiilfe
irrationaler und so gar imaginérer Formeln solche Auflosungen gefunden haben, wozu
einig und allein rationale und so gar gantze Zahlen erfordert wurden. Noch
merckwiirdiger aber ist es, dal} in denjenigen Féllen wo die Irrationalitdt verschwindet,
unsere Methode nicht mehr statt findet: dann wann z. E. XX+ cyy ein Cubus seyn soll, so

kann man sicher schlieBen daf auch die beyden irrationalen Factoren davon, nemlich
X+ yJI und X — yJI , Cubos seyn miien; weil dieselben unter sich untheilbahr sind
indem die Zahlen X und y keinen gemeinen Theiler haben. Fiele aber die Irrationalitét
\/—_C weg, als wann z. E. ¢ =—1 wire, so wiirde dieser Grund nicht mehr stattfinden,
weil alsdann die beyden Factoren nemlich X+ Yy und x — y allerdings gemeine Theiler
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haben konnten, ohngeacht X und y dergleichen nicht haben, z. E. wann beyde ungerade
Zahlen wiren.
Wann demnach xX—yy ein Cubus seyn soll, so ist nicht nothig da3 so wohl

X+Y als X—y fiir sich ein Cubus sey, sondern man konnte wohl setzen
X+y=2 p3 und X—y = 4q3 , da dann xx—yy ahnstreitig ein Cubus wiirde nemlich 8p’q’,

davon die Cubic-Wurzel ist 2pg; alsdann aber wird X = p3 + 2q3 ,undy = p3 - 2q3 .
Wann aber die Formel axx+cyy sich nicht in zwey rationale Factores zertheilen 148t, so
finden auch keine andere Auflosungen statt, als die hier gegeben worden.

192.

Wir wollen .diese Abhandlung durch einige merckwiirdige Fragen erldutern:

I. Frage: Man verlangt in gantzen Zahlen ein Quadrat Xx da3 wann darzu 4 addirt wird,
ein Cubus herauskomme; dergleichen sind 4 und 121, ob aber mehr dergleichen gegeben
werden konnen, ist hier die Frage?

Da 4 ein Quadrat ist, so suche man erstlich die Fille da xx+ yy ein Cubus wird, welches

wie aus dem obigen erhellet geschieht, wann X = p3 —3pqq und y =3 ppqg— q3 ; danun
hier yy = 4, soisty =12, folglich muf} seyn 3 ppqg— q3 =+2 oder 3 ppq - q3 =-2:1m
erstern Fall wird also q (3 pp — qq) =2, folglich g ein Theiler von 2. Es sey demnach
erstlich g =1, so wird 3pp—1=2, folglich p=1 und also x=2 und xx=4.

Setzt man g =2, so wird 6 pp—8==2; gilt das Zeichen +, so wird
6pp =10 und pp = % , woraus der Werth von p irrational wiirde und hier also nicht statt

fande; gilt aber das Zeichen —, so wird 6pp =6 und p =1, folglich x=11. Mehr Félle

giebt es nicht, und also kdnnen nur zwey Quadraten gegeben werden, nemlich 4 und 121,
welche wann dazu 4 addirt wird Cubi werden.

193.
II. Frage: Man verlangt solche Quadrate in gantzen Zahlen, welche wann dazu 2 addirt
wird Cubi werden, wie bey dem Quadrat 25 geschieht: ob es nun noch mehr dergleichen
giebt wird hier gefragt?
Da also xx+2 ein Cubus seyn soll, und 2 ein doppeltes Quadrat ist, so suche man
erstlich die Fille, wo die Formel xx+2yy ein Cubus wird, welches aus dem obigen

Articul 188, wo a=1und ¢ =2, geschieht, wann X = p3 —6pqg und y =3 ppq —2q3 ; da
nun hier y =+1 so muB seyn 3ppq—2q° =q(3pp-2qq) =1, und also q ein Theiler
von 1; es sey demnach =1, so wird 3pp—2 ==1; gilt das obere Zeichen, so wird

3pp=3und p=1, folglich X =5; das untere Zeichen aber giebt vor p einen irrationalen

Werth, welcher hier nicht statt findet; woraus folgt dal nur das einzige Quadrat 25 in
gantzen Zahlen die verlangte Eigenschaft habe.

194.
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II1. Frage: Man verlangt solche fiinffache Quadrate, wann dazu 7 addirt wird daB3 ein
Cubus herauskomme: oder dafl 5xx+7 ein Cubus sey?
Man suche erstlich diejenigen Félle da 5xx+7 ein Cubus wird, welches nach dem

Articul 188, wo a=>5und ¢c =7, geschieht, wann X =5 p3 —21pqq und y =15ppq —7q3 ;

weil nun hier seyn soll y =21, so wird 15ppq— 7q3 =q(15pp—79q)==1, da dann g
einTheiler seyn mufl von 1, folglich q =1, daher wird 15pp—7 = *1, wo beyde Fille fiir
p etwas irrationales geben, woraus aber doch nicht geschlossen werden kann, daf3 diese
Frage gar nicht moglich sey, weil p und g solche Briiche seyn konnten, da y =1 und x
doch eine gantze Zahl wiirde; solches geschieht wiircklich wann p=Zund q =1 , dann

da wird y =1 und X =2 ; mit andern Briichen aber ist die Sache nicht moglich.

195.

IV. Frage: Man suche solche Quadrate in gantzen Zahlen, welche doppelt genommen
wann davon 5 subtrahirt wird, daf} ein Cubus heraus komme; oder 2xX—35 soll ein Cubus
seyn.

Man suche erstlich diejenigen Félle da 2xx—5yy ein Cubus wird, welches nach dem

188ten Articul, wo a =2 und ¢ =-5 geschieht, wann

X=2 p3 +15pqq und y = 6 ppq +5q3 . Hier aber muB3 seyn y =1, und folglich
6ppq+59° = q(6pp+54q) = =1,

welches in gantzen Zahlen nicht geschehen kann, und auch nicht einmahl in

Briichen; dahero dieser Fall sehr merckwiirdig ist, da gleichwohl eine Auflosung

statt findet, wann nemlich X =4, dann da wird 2xX—5 =27, welches der Cubus ist von
3; und hievon ist es von der grofiten Wichtigkeit den Grund zu untersuchen.

196.
Es ist also moglich, daB3 2xx—5yy ein Cubus seyn konne deBen Wurzel so gar diese Form

hat 2pp—-5qq, wann nemlich x=4, y=1und p=2, g=1, und demnach haben wir
einen Fall wo 2xx—5yy =(2pp— Sqq)3 , ungeacht die beyden Factoren von 2Xxx —5yy

nemlich x+/2 + y«/g und X2 - y\/g , keine Cubi sind, da dieselben doch nach dieser
Methode die Cubi von p\/z + q\/g und p\/i — q\/g seyn sollten, indem in unserm Fall

x3/2 + Y5 = 442 +/5 , hingegen (p\/§+qx/§)3 =(2J§+J§)3 =462 +294/5,

welches keineswegs mit 42 ++/5 iiberein kommt.

Es ist aber zu mercken, dal3 diese Formel rr —10ss in unendlich viel Fallen 1 oder —1
werden kann; wann nemlich r =3 und s =1, ferner wann r =19 und s = 6, welche mit
dieser Formel 2 pp —50q multiplicirt wieder eine Zahl von der letztern Form giebt.

Es sey demnach ff —10gg =1, und anstatt dall wir oben gesetzt haben
2xx—5yy =(2pp— 5qq)3 , so kénnen wir jetzt auch auf eine allgemeinere Art
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setzen 2xx—5yy =( ff —109g)(2pp—5aq )3 , und die Factores davon genommen
3
geben X2 + y\/g =(f+£ g\/m)( p\/E iq\/g) . Es ist aber

(pﬁiqﬁf :(2p3 +15pqq)x/51r(6pp(1+5q3)\/§’

wofur wir der Kiirtze halber schreiben wollen A\/E + B\/g , welches mit f + g\/m

multiplicirt giebt Af~/2 + Bf /5 +2Ag+/5 +5Bg~/2 , welches dem X~/2 + y+/5 gleich
seyn mul}, woraus entspringet

Xx=Af +5Bg undy = Bf +2Ag;
da nun y ==l seyn muB, so ist nicht unumganglich néthig dall 6 ppq+ 5q3 =1 werde,
sondern es ist genung wann nur die Formel Bf +2Ag, das ist

f (6 ppq +5q3)+2g (2p3 +15 pqq)
dem #1 gleich werde, wo f und g vielerley Werthe haben konnen. Es sey z. E.
f =3 und g =1, so muf} diese Formel 18 ppq +15q3 +4p3 +30pqq dem +1

gleich werden, oder es muB seyn 4p> +18ppg+30pqq+15g°> = +1.

197.
Diese Schwierigkeit alle dergleichen mdgliche Félle heraus zu bringen findet sich aber
nur alsdann, wann in der Formel axx+cyy die Zahl ¢ negativ ist, weil alsdann diese

Formel axx+cyy oder diese XX+ acyy, so mit ihr in einer genauen Verwandtschaft

stehet, 1 werden kann, welches aber niemals geschehen kann wann C eine positive Zahl
ist, weil axx+cyy oder Xx+acyy immer groflere Zahlen giebt, je grofer X und y

genommen werden. Dahero die hier vorgetragene Methode nur in solchen Fillen mit
Vortheil gebraucht werden kann, wann die beyden Zahlen a und ¢ positiv genommen
werden.
198.
Wir kommen also zur vierten Potestit und bemercken zuforderst, dafl wann die Formel
axx+cyy ein Biquadrat werden soll, die Zahl seyn miile; dann wann dieselbe kein

Quadrat wire, so wire es entweder nicht moglich diese Formel nur zu einem Quadrat zu
machen, oder wann es moglich wire so konnte dieselbe auch in dieser Form tt + acuu
verwandelt werden, dahero wir die Frage nur auf diese letztere Form, mit welcher die
obige XX+ cyy wann a =1 iibereinstimmt, einschrancken. Nun kommt es also darauf an,

wie die Werthe von X und y beschaffen seyn miilen, daf diese Formel axx +cyy ein
Biquadrat werde. Da nun dieselbe aus diesen zwey Factoren besteht

(X+ y\/z )(X— y«/z ), so muB} ein jeder auch ein Biquadrat von gleicher Art seyn,
dahero gesetzt werden muf3

x+y\/z=(p+q\/—_c)4undx—yx/—_c:(p—q\/—_c)4

woraus unsere Formel diesem Biquadrat ( pp + qu)4 gleich wird, die Buchstaben
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X und y selbst aber werden aus der Entwickelung dieser Formel leicht bestimmt, wie
folget:

X+ yv—¢ = p* + 4 p>gqv/—c — 6¢cppaq — 4cpg’~/—c +ceq?

X — y~/—¢ = p* —4p3g+/—c — 6¢ppqq + 4cpg>~/—¢ +ceq®
folglich

x=p* —6cppaq + ccq? und y=4pq—4cpg’.
199.

Wann also xx+ Yy ein Biquadrat werden soll, weil hier ¢ =1, so haben wir diese Werthe

x=p*—6ppgq+q* und y=4p3q—4pg’ und alsdann wird seyn xx+ yy:(pp+qq)4.

LaBt uns z. E. setzen p=2und =1, so bekommen wir X =7 und y = 24 ; hieraus wird
xx+yy:625:54.
Nimmt man ferner p=3 und =2, so bekommt man x=119 und y =120, daraus wird
XX+ Yy = 134
200.
Bey allen geraden Potestdten wozu die Formel axx +cyy gemacht werden soll, ist

ebenfalls unumginglich n6thig, daB3 diese Formel zu einem Quadrat gemacht werden
konne, zu welchem Ende genug ist da3 man nur einen einzigen Fall wille, wo dieses
geschieht; und alsdann kann diese Formel wie wir oben gesehen haben, in dieser Gestalt
verwandelt werden tt+acuu, wo das erste Glied nur mit 1 multiplicirt ist, und also als in
dieser Form xx+cyy enthalten angesehen werden kann, welche hierauf auf eine dhnliche

Weise, so wohl zur sechsten Potestit als einer jeglichen andern noch héhern geraden
Potestit gemacht werden kann.

201.
Bey den ungeraden Potestiten aber ist diese Bedingung nicht nothwendig, sondern die
Zahlen a und ¢ mogen beschaffen seyn wie sie wollen, so kann die Formel axx+ cyy

allezeit zu einer jeglichen ungeraden Potestit gemacht werden. Dann verlangt man z. E.

5
die flinfte Potestit, so darf man nur setzen x+/a + y\/—_c = ( p\/a + CI\/—_C ) , und

5
xva — y\/—_c = ( p\/g — q\/—_c ) , da dann offenbahr wird axx +cyy = (app + cqq)5 .
Weil nun die fiinfte Potestdt von p\/g + q\/—_c ist

aap>+/a + 5aap*gv/—c —10acpggv/a —10acppg®v—¢ + 5cepg*Va +ceq’ v—c |

woraus sogleich geschlossen wird

x =aap> —10acp>qq + 5cepq” und y = Saap*q—10acppg® +ccq’.
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Verlangt man allso eine Summ von zwey Quadraten XX+ yy, die zugleich eine fiinfte

Potestit sey, so ist a =1 und ¢ =1; folglich
x=p>-10p® qq+5pq* und y=5p*q-10ppg’® +q°

Nimmt mannun p=2und =1, so wird x=38 undy =41, und

XX+Yyy =3125 =5,
CAPITEL 13

VON EINIGEN FORMELN DIESER ART ax* +by* WELCHE SICH NICHT
ZU EINEM QUADRAT MACHEN LASSEN

202.
Man hat sich alle Miihe gegeben zwey Biquadrate zu finden, deren Summ oder
Differenz eine Quadrat-Zahl wiirde; allein alle Miihe war vergebens, und endlich fand
man so gar einen Beweis, dall weder diese Formel x* + y4 noch diese x* — y4 jemals ein

Quadrat werden konne, nur zwey Fille ausgenommen, wo nemlich bey der erstern
entweder X =0 oder y =0, bey der andern aber wo entweder y =0 oder y = X, und in

welchen Féllen die Sache offenbahr vor Augen liegt. Dal} aber in allen iibrigen die Sache
unmoglich seyn soll, ist um so viel mehr merckwiirdig, weil wann nur von schlechten
Quadraten die Rede ist, unendlich viel Auflésungen statt finden.

203.

Um diesen Beweis gehdrig vorzutragen, ist vor allen Dingen zu bemercken, daf3 die
beyden Zahlen X und y als untheilbahr unter sich angesehen werden kénnen; dann sollten
dieselben einen gemeinen Theiler z. E. d haben, also dall man setzen konnte
X =dp und y =dq, so wiirden unsere Formeln

d*p*+d*q* und d*p* —d*q* welche wann sie Quadrate wiren, auch durch das

Quadrat d* dividirt, Quadrate bleiben miiBten, also daB auch diese Formeln p4 + q4 und

p4 - q4 Quadrate wiren, wo nun die Zahlen p und q keinen weitern gemeinen Theiler

haben; es ist demnach genung zu beweisen, daf diese Formeln in dem Fall da X und y
unter sich untheilbahr sind, keine Quadrate werden konnen, und alsdann erstreckt sich der
Beweis von selbsten auf alle Félle, da auch X und y gemeinschaftliche Theiler haben.

204.

Wir wollen demnach von der Summ zweyer Biquadraten nemlich dieser Formel x* + y4
den Anfang machen, und wo wir X und Y als unter sich untheilbahre Zahlen ansehen
konnen. Um nun zu zeigen daf x* + y4 auller den obgemeldten Féllen kein Quadrat seyn
konne, so wird der Beweis folgendergestalt gefiihret.
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Wann jemand den Satz 1dugnen wollte, so miiite er behaupten da3 solche Werthe fiir X

und y moglich wéren, wodurch x* + y* ein Quadrat wiirde, dieselben mdchten auch so
grof} seyn als sie wollten, weil in kleinen gewis keine vorhanden sind.

Man kann aber deutlich zeigen, dal wann auch in den groBten Zahlen solche Werthe fiir
X und y vorhanden wiren, aus denselben auch in kleinern Zahlen eben dergleichen
Werthe geschlossen werden kdnnten, und aus diesen ferner in noch kleinem u. s. f. Da
nun aber in kleinen Zahlen keine solche Werthe vorhanden sind, auBBer den zwey
gemeldten welche aber zu keinen andern fiihren, so kann man sicher schlie3en, da3 auch
in groBem, ja so gar den allergroften Zahlen, keine solche Werthe fiir X und y vorhanden
seyn konnen. Und auf eben solche Art wird auch der Satz von der Differenz zweyer

Biquadraten x* —y* bewiesen, wie wir so gleich zeigen wollen.

205.

Um erstlich zu zeigen daf3 x* + y4 kein Quadrat seyn konne aufler den beyden Féllen
die fiir sich klar sind, so sind folgende Sdtze wohl zu bemercken.

I. Nehmen wir an dal} die Zahlen X und y untheilbahr unter sich sind oder keinen
gemeinen Theiler haben; so sind sie entweder beyde ungerad, oder die eine ist gerad und
die andere ungerad.

I1. Beyde aber konnen nicht ungerad seyn, weil die Summ von zwey ungeraden
Quadraten niemals ein Quadrat seyn kann: dann ein ungerades Quadrat ist allezeit in der
Form 4n+1 enthalten, und also wiirde die Summ zweyer ungeraden Quadraten diese
Form 4n+ 2 haben, welche sich durch 2 nicht aber durch 4 theilen 146t, und also
kein Quadrat seyn kann. Dieses aber gilt auch von zwey ungeraden Biquadraten.

II. Wann demnach x* + y4 ein Quadrat wire, so miifite das eine gerad, das andere aber

ungerad seyn. Wir haben aber oben gesehen, dal wann die Summ zweyer Quadraten ein
Quadrat seyn soll, die Wurzel des einen durch pp—qq, des andern aber durch 2pq

ausgedriickt werde; woraus folget da3 seyn miilite xx = pp—qq und yy =2 pq und da
wiirde x*+y* = (pp+qq)*.
IV. Hier also wiirde y gerad, X aber ungerad seyn: da nun XX = pp—qq, so muf} auch

von den Zahlen p und q die eine gerad, die andere aber ungerad seyn; die erstere p aber
kann nicht gerad seyn, weil sonsten pp—qq als eine Zahl von dieser Form

4n—1 oder 4n+ 3, niemals ein Quadrat werden kann. Folglich miifite p ungerad q aber
gerad seyn, wo sich von selbsten versteht dal dieselben untheilbahr unter sich seyn
miifen.

V. Danun pp-qq ein Quadrat, nemlich dem xx gleich seyn soll, so geschieht dieses

. . 2
wie wir oben gesehen, wann p =rr+ss und g =2rs : dann da wird xx =(rr—ss)”, und

also X=1rr—ss.
VI. Allein yy mul} auch ein Quadrat seyn; da wir nun haben yy =2pq, so wird jetzt

yy = 4rs ( re+ SS) , welche Formel also ein Quadrat seyn muB3: folglich muf3 auch
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rs ( rr+ SS) ein Quadrat seyn, wo r und S unter sich untheilbahre Zahlen sind, allso daf3

auch die hier befindlichen drey Factores, I, Sund rr +ss, keinen gemeinen Theiler unter
sich haben konnen.

VII. Wann aber ein Product aus mehr Factoren, die unter sich untheilbahr sind, ein
Quadrat seyn soll, so mul} ein jeder Factor fiir sich ein Quadrat seyn, also setze man

r=tt und s =uu:so muB auch t* +u”ein Quadrat seyn. Wann demnach x*+ y4 ein

Quadrat wire, so wiirde auch hier t* +u* das ist ebenfals eine Summ von zwey

2
Biquadraten ein Quadrat seyn. Wobey zu mercken da3 weil hier xx = (t4 + u4)

und yy = 4ttuu <t4 + u4) , die Zahlen t und u offenbahr weit kleiner seyn wiirden als X und

y, indem X und y so gar durch die vierte Potestiten von t und u bestimmt werden und also
unstreitig weit grofler seyn mii3en.

VIIL. Wann dahero zwey Biquadrate als x* und y* auch in den groBten Zahlen vorhanden
seyn sollten, deren Summ ein Quadrat wire, so konnte man daraus eine Summ von zwey
weit kleineren Biquadraten herleiten, welche ebenfals ein Quadrat wire; und aus diesen
konnte nachmahlen noch eine kleinere dergleichen Summe geschlossen werden und so
weiter, bis man endlich auf sehr kleine Zahlen kdme: da nun aber in kleinen Zahlen keine
solche Summ mdglich ist, so folgt daraus offenbahr daB3 es auch in den grofiten Zahlen
dergleichen nicht gebe.

IX. Man konnte hier zwar einwenden dal3 es in den kleinen Zahlen wiircklich
solche gebe wie schon anfanglich bemerckt worden, nemlich da das eine Biquadrat Nulle
wird; allein auf diesen Fall kommt man gewis nicht wann man Solchergestalt von den
groBten Zahlen immer zu kleinern zuriickgeht. Dann wire bey der kleineren Summ

t* +u* entweder t =0 oder u =0, so wiirde auch bey der groBern Summ nothwendig
yy =0 seyn; welcher Fall hier in keine Betrachtung kommt.

206.
Nun kommen wir zu dem andern Hauptsatz, dall auch die Differenz zwischen zwey
Biquadraten als Xt — y4 niemals ein Quadrat werden konne, auer den Féllen
y=0undy = x; zu dessen Beweis folgende Puncte zu mercken.

I. Sind die Zahlen X und y als untheilbahr unter sich anzusehen, und also entweder beyde
ungerad oder die eine gerad und die andere ungerad. Da nun in beyden Fillen die
Differenz von zweyen Quadraten wieder ein Quadrat werden kann, so miissen diese zwey
Fille besonders erwogen werden.

II. Es seyen also erstlich die beyden Zahlen X und y ungerad, und man setze
X=p+qundy = p—(; so muBl nothwendig eine dieser Zahlen p und q ungerad die

andere aber gerad seyn. Nun wird XX— Yy =4pq und XX+ yy =2 pp +2qq, folglich unsere
Formel x* - y4 =4pq (2 pp + 2qq) ,welche ein Quadrat seyn soll, und also auch der vierte
Theil davon pq(2pp+2qq)=2pq(pp+qq), deren Factoren unter sich untheilbahr
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sind: folglich muB ein jeder dieser Factoren 2p, g und pp+qq fiir sich ein Quadrat seyn,
weil nemlich die eine Zahl p gerad, die andere  aber ungerad ist. Man setze dahero um
die beyden ersten zu Quadraten zu machen 2p =4rr oder p =2rr,und =SS, wo S

ungerad seyn muf}, so wird der dritte Factor 4r* +s* auch ein Quadrat seyn miissen.

1. Danun s* +4r* eine Summ von zwey Quadraten ist, davon st ungerad, 4r* aber
gerad ist, so setze man die Wurzel des erstern SS =tt —uu,wo t ungerad und u gerad ist;
des letztern aber 2rr =2tu oder rr =tu, wo t und u unter sich untheilbahr sind.

IV. Weil nun tu= rr ein Quadrat seyn muf3, so muf3 so wohl t als U ein Quadrat seyn; man
setze demnach t=mm und u=nn, wo m ungerad und n gerad ist, so wird

ss=m* —n*also daB wieder eine Differenz von zwey Biquadraten nemlich m*—n* ein
Quadrat seyn miifte. Es ist aber klar daf3 diese Zahlen weit kleiner seyn wiirden

als X und y, weil r und s offenbahr kleiner sind als X und Yy, und hinwiederum m und n
kleiner als r und 8; wann also die Sache in den gréften Zahlen moglich und x* - y4 ein
Quadrat wire, so wiirde dieselbe in weit kleinem Zahlen auch noch méglich seyn, und so
immer fort bis man endlich auf die kleinsten Zahlen kdme, wo die Sache moglich ist.

V. Die kleinsten Zahlen aber wo dieses moglich ist, sind wann das eine Biquadrat gleich
0 oder dem andern gleich ist: wire das erstere so miifite seyn n =0, folglich u=0, ferner
r=0und p=0 und x*— y4 =0, oder x* = y4; von einem solchen Fall ist aber hier nicht
die Rede. Wire aber n=m, so wiirde t =u, weiter S=0, =0 und endlich auch x=Yy,
welcher Fall hier nicht statt findet.

207.

Man konnte hier einwenden, dall da m ungerad und n gerad ist, die letztere Differenz der
erstern nicht mehr dhnlich sey, und man also daraus nicht weiter auf kleinere Zahlen den
Schlu machen konnte. Es ist aber genug dafl man von der erstern Differenz auf die
andere gekommen, und wir werden anjetzo zeigen dal3 auch x* - y4 kein Quadrat seyn
konne, wann das eine Biquadrat gerad und das andere ungerad ist.

I. Wire das erstere x* gerad und y* ungerad, so wire die Sach an sich nicht moglich, weil
eine Zahl von der Form 4n+ 3 herauskdme die kein Quadrat seyn kann. Es sey demnach
X ungerad und y gerad, so mull seyn XX = pp+q und y =2pq, dann so wird

x*—y* = p*~2ppag+q* =(pp-qq)’,

wo von p und g das eine gerad das andere aber ungerad seyn muf.
II. Danun pp+qq = xx ein Quadrat seyn muf3, so wird p =rr—ss und q = 2rs ; folglich
X =rr +ss . Hieraus aber wird yy = 2(rr —ss)-2rs oder yy =4rs(rr —ss), welches ein

Quadrat sein muf3, und also auch der vierte Theil davon nemlich rs ( r— Ss) , wovon die
Factoren unter sich untheilbahr sind.

III. Man setze demnach r =tt und S =uu, so wird der dritte Factor rr —ss = t4—u?
welcher ebenfals ein Quadrat seyn muf}; da nun derselbe auch eine Differenz von zwey
Biquadraten ist welche viel kleiner sind als die ersten, so erhélt hierdurch der vorige
Beweis seine vollige Starcke, also dall wann auch in den gréften Zahlen die Differenz
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zweyer Biquadraten ein Quadrat wire, daraus immer kleinere dergleichen Differenzen
gefunden werden konnten, ohne gleichwohl auf die zwey offenbahre Félle zu kommen:
dahero gewis auch in den grofiten Zahlen solches nicht mdglich ist.

208.
Der erste Theil dieses Beweises da die Zahlen x und y beyde ungerad genommen werden,
kann folgender Gestalt abgekiirtzet werden. Wann Xt — y4 ein Quadrat wére, so miifite

seyn XX = pp+qq und yy = pp—qq, wo von den Buchstaben p und q der eine gerad der

andere aber ungerad wire: alsdann aber wiirde xxyy = p4 - q4, folglich miifite p4 — q4

auch ein Quadrat seyn, welches eine Differenz von zwey solchen Biquadraten ist, davon
das eine gerad das andere aber ungerad ist: daf3 dieses aber unmoglich sey, ist in dem
zweyten Theil des Beweises gezeigt worden.

2009.

Wir haben also diese zwey Hauptsétze bewiesen, dall weder die Summ noch die
Differenz zweyer Biquadraten jemals eine Quadrat-Zahl werden konne, auf3er einigen
wenigen offenbahren Féllen.

Wann demnach auch andere Formeln welche zu Quadraten gemacht werden sollen, so
beschaffen sind, da3 entweder eine Summ oder eine Differenz von zweyen Biquadraten
ein Quadrat werden miif3ite, so sind dieselben Formeln ebenfalls nicht moglich. Dieses
findet nun statt in den folgenden Formeln, welche wir hier anfiihren wollen.

L. Ist es nicht moglich daB3 diese Formel x*+ 4y4 ein Quadrat werde: dann weil diese
Formel eine Summ von zwey Quadraten ist, so miiite seyn XX = pp—qq und 2yy =2 pq
oder yy = pq ; da nun p und g untheilbahr unter sich sind, so miifte ein jedes ein Quadrat

seyn. Setzt man dahero p=rr und q=SsS, so wird XX = r* —s*: also miiBite eine
Differenz von zwey Biquadraten ein Quadrat seyn, welches nicht moglich ist.
I Ist es auch nicht moglich daf3 diese Formel x*— 4y4 ein Quadrat werde: dann da
miifite seyn XX = pp+qq und 2yy =2pq, weil alsdann heraus kime

x*—4y* =(pp-qq )2 ; danun yy = pq, so miiBte p und q jedes ein Quadrat seyn; setzt
mannun P=1Ir und =SS, so wird XX = rf+s4; folglich miifte eine Summ von zwey
Biquadraten ein Quadrat seyn, welches nicht moglich ist.

111 Es ist auch nicht méglich, daf diese Form 4x* —y* ein Quadrat werde, weil alsdann

y nothwendig eine gerade Zahl seyn miifite. Setzt man nun y =2z, so wiirde 4x* —162*

und folglich auch der vierte Theil davon x* —4z* ein Quadrat seyn miilen, welches nach
den vorigen Fall unmoglich ist.

I'V. Es ist auch nicht moglich, da3 diese Formel 2t + 2y4 ein Quadrat werde; dann da
dasselbe gerad seyn miifite, und folglich x4+ 2y4 =47z wire, so wiirde seyn

x*+ y4 =27z, und dahero
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227 +2xxyy = X* +2xxyy + y*
und also ein Quadrat. Eben so wiirde seyn
277 - 2XXyy = x* — 2XXyY + y4
und also auch ein Quadrat. Da nun so wohl
277+ 2xxyy als 2zz —2xxyy
ein Quadrat seyn wiirde, so miifite auch ihr Product 47* —4x* y4 , und also auch der vierte

Theil davon ein Quadrat seyn. Dieser vierte Theil aber ist 24 —x* = y4 und also eine
Differenz von zwey Biquadraten, welches nicht moglich ist.
V. Endlich kann auch diese Formel 2x* — 2y4 kein Quadrat seyn; dann da beyde Zahlen

X und Yy nicht gerad sind, weil sie sonsten einen gemeinen Theiler hitten, und auch nicht
die eine gerad und die andere ungerad, weil sonsten der eine Theil durch 4 der andere
aber nur durch 2, und also auch die Formel selbst nur durch 2 theilbahr seyn wiirde, so
miilen beyde ungerad seyn. Setzt man nun X=p+qundy = p—(, so ist die eine von

den Zahlen p und q gerad die andere aber ungerad, und da

2x* —2y* = 2(xx + yy) (XX — YY), so bekommt man XX+ Yyy =2 pp+2qq = 2(pp +qq) und
XX— Yy =4p(q; allso unsere Formel 16 pq(pp +qq), deren sechzehnte Theil, nemlich
pg(pp +4qg), folglich auch ein Quadrat seyn miifite. Da nun die Factores unter sich

untheilbar sind, so miifte ein jeder fiir sich ein Quadrat seyn. Setzt man nun fiir die

beyden erstern p =rr und g =SS, so wird der dritte r* +s*, welcher auch ein Quadrat

seyn miifite: dieses aber ist nicht moglich.

210.

Auf eine gleiche Weise 146t sich auch beweisen, daf3 diese Formel x*+ 2y4 kein
Quadrat seyn konne, wovon der Beweis in folgenden Sétzen besteht.

I. Kann X nicht gerad seyn, weil alsdann y ungerad seyn miifite, und die Formel sich nur
durch 2 nicht aber durch 4 wiirde theilen lalen: dahero muf3 X ungerad seyn.

II. Man setze demnach die Quadrat-Wurzel unserer Formel = Xxx _I_ZpTyy ,

damit dieselbe ungerad werde; so wird
4pry . 4ppy*
q a
wo sich die x* aufheben, die iibrigen Glieder aber durch yy dividirt und mit qq
multiplicirt, geben

4 paxx+4 ppyy = 2qayy,oder 4 pgxx = 2qqyy —4 ppyy ,

x+2y = x4 4 2R

q9-2pp

daraus wird X =
Yy 2pq

; woraus folget

XX=0qq-2ppundyy=2pq,
welche eben die Formeln sind die wir schon oben gegeben haben.
III. Es miiBte also qq—2pp wieder ein Quadrat seyn, welches nicht anders
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geschehen kann, als wann ¢ = rr +2ss und p = 2rs ; dann da wiirde xx = (rr — 255)2 ;
hernach aber wiirde 4rs(rr +2ss) = yy, und allso miiBite auch der vierte Theil rs(rr + 2ss)
ein Quadrat seyn, und folglich r und s jedes besonders. Setzt man nun r =tt und S=uu,
so wird der dritte Factor rr +2ss =t* +2u* , welches auch ein Quadrat seyn miifite.

IV. Wire demnach x* + 2y4 ein Quadrat, so wiirde auch t*+2u* ein Quadrat seyn, wo

die Zahlen t und u weit kleiner wéren als X und y; und Solchergestalt wiirde man immer
auf kleinere Zahlen kommen kénnen. Da nun in kleinen Zahlen diese Formel kein
Quadrat seyn kann, wie leicht zu probiren ist, so kann dieselbe auch in den groBten
Zahlen kein Quadrat seyn.

211.

Was hingegen diese Formel betrift x* - 2y4 , S0 kann von derselben nicht bewiesen

werden, daB} sie kein Quadrat werden konnte, und wann man auf eine dhnliche Art die
Rechnung anstellt, so konnen so gar unendlich viel Félle gefunden werden, da dieselbe
wiircklich ein Quadrat wird.

Dann wann X — 2y4 ein Quadrat seyn soll, so ist oben gezeigt worden, daf3 seyn werde

XX = pp+2qq und yy = 2 pq , weil man alsdann bekommt x* —2y* = (pp-2qq )2 .Da
nun auch pp+2qqg ein Quadrat seyn muB3, so geschieht dieses wann
p=rr—2ss und q=2rs; dann da wird xx = (rr + 238)2 . Allein hier ist wohl zu mercken,

daB dieses auch geschehen wiirde, wann man annehme p =2SS—rr und g = 2rs, dahero

zwey Fille hier in Erwegung zu ziehen sind.
I. Es sey erstlich p=rr—2ss und q=2rs, so wird X =rr+2ss; und weil yy =2p(q, so

wird nun seyn Yy = 4rs(rr —2ss) ; und miilten also r und s Quadrate seyn. Man setze

deswegen r =tt und S =uu, so wird yy = 4ttuu <t4 —2u4); also

y =2tuy(t* —2u®) und x =t* +2u;

wann daher t* —2u?ein Quadrat ist, so wird auch x*— 2y4 ein Quadrat; ob aber gleich t
und U kleinere Zahlen sind als X und Y, so kann man doch wie vorher nicht schlie3en, daf3

x* - 2y4 kein Quadrat seyn konne, deswegen weil man daher auf eine dhnliche Formel in
kleinem Zahlen gelanget; dann x*— 2y4 kann ein Quadrat seyn ohne auf diese

Formel t* —2u* zu kommen, weil dieses noch auf eine andere Art geschehen kann,
nemlich in dem andern Fall, den wir noch zu betrachten haben.
II. Es sey also p=2ss—rr und g =2rs, so wird zwar wie vorher X =rr +2ss, allein fiir

y bekommt man Yy =2pg=4rs(2ss—IT). Setzt man nun r =tt und s =uu, so bekommt

man woraus erhellet, da unsere Formel x* — 2y4 auch ein Quadrat werden
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kénne, wann diese 2u* —t* ein Quadrat wird. Dieses aber geschieht offenbar, wann
t =1 und U =1; und dahero bekommen wir X =3 und y = 2, woraus unsere Formel

x* —2y* wird 81-2-16=49.
III. Wir haben auch oben gesehen, daf3 2u* —t* ein Quadrat werde, wann

u=13undt =1, weil alsdann <2u4 —t4) =239 . Setzt man nun diese Werthe fiir t und

u, so erhalten wir einen neuen Fall fiir unsere Formel, nemlich
x=1+2-13* =57123 undy =2-13-239=6214.

IV. So bald man aber Werthe fiir X und y gefunden, so kann man dieselben in den
Formeln No. I. fiir t und u schreiben, da man dann wieder neue fiir X und y erhalten wird.

Weil wir nun gefunden X =3 und y =2, so lalt uns in den No. I. gegebenen Formeln
setzent =3 und U =2, da dann \/(t4 — 2u4) =7, so bekommen wir folgende neue Werthe
X=81+2-16=113undy=2-3-2-7=84.
Hieraus erhalten wir xx = 12769, und x* = 163047361 ; ferner

yy = 7056 und y4 =49787136, daher wird x* — 2y4 = 63473089 wovon die Quadrat-

Wurzel ist 7967, welche auch véllig iibereintrifft mit der anfédnglich angesetzten
pp—2qq.Dannda t=3undu=2, so wird r =9 und s =4, dahero

p=81-32=49 und g =72, woraus pp—2qq =2401-10368 = 7967 .



